/'\'\- PeerSafe.

EERZ SR BRAE

ChainSQLV3.0 iR S

XHRE: Wgipga: | V1.0

IEXE F&: LT

[VIERXN A& TR A

HEAR:

EHHEER: 2021/05/06

ERARZ LSRR ERAE

2021.5



/’\'- PeerSaofe.

EERZ SR BRAE

=k

1. BREL 3
11 MR 3
1.2 Wik E 3

2. HiRS% 3

3. M4 4
3.1 MY E 4
3.2 WL 4

4 WRTH >

5. Wik XA B S

6. FR T SLE R 6

6.1 ZEW, 6
6.1.1 4 M R EE®) 6
6.1.2 4 AN R EKE®) 13
6.1.3 4 AN R (R RIXIR) 21
6.1.4 4 AN R (B EHLER) 24
6.14 10 M &K 27
6.1.520 M 36
6.1.6 50 M &K 44
6.1.7 IR 52
6.1.8 £ 54
6.1.9 FAKEIE 61
6.1.20 Fi{EREFS 62

6.2 REHRIR 62

THRGE S M 64

7.1 WikGERGE 64

72 WiRKLE 67

7.3 WiA 68




R, PeerSafe.

EERZ SR BRAE

1.4855

1.1 WAER

ChainSQLV3.0 MUAT 81 T fe#ir) Ripple fUBS, #7248, LR TR I 68 DA SRR

e

1.2 WX BRY

[E RS2 i b BT AU AT ERE NN, TR chainsql AR PERE AN,
T RET 2 H ST H LS5 & 35

ASCRY A ChainSQLV3.0 FIPEREMNAHR S, HWRERH &, HdEEr@afy ~, Wik
ChainSQL #%7F POP il HOTSTUFF B.¥5 T Payment A1 Insertment HJ3:iH TPS F1%z 5 B .
1] 3R45 ChainSQL iz fTHFAYAH <8, M matfT404r.

2. IBinsE

=L

BiE

> CPU HHXTEE >

MR 5548 CPU 5 .
70%LARN LT
70% ~85% —HK

85%PA L 2=

> NS AXTE >

e 2528 A7 5 T %
T0%LARN  IEF5
70% ~85% —HK

85%PA L 2=

> TPS >

BERP IS A5 R AR, R AR GE A PR
K, BRGLrEaesly

s BRI




e, PecrSofe.

EERZ SR BRAE

> WA R RTE]

PRy

> MR TTIR B R S AR AR BT 2 I e, RS, RS

3R

3.1 WAV =BEE

A& BHEREIR BRIERXSR &
B FE L2 CPU:8C WNT#:16G Ubuntu18.04 $& 78 chainsql 75
W54%:540G
B 100M
Fiy B <AL CPU:8C  WN17:16G f# Ubuntu18.04 ¥BE Jmeter EM T H %
#:40G L )
3.2 MK ELEEE
& HRHE
ChainSQLM%

E@ ------ 7§§5§U1Irw¢-~»~-|

Jmeter[EMH1

el

R

n.n+1....n+n I
PR I I e
TR R

nodeExport+promethus
+grafana



e, PecrSofe.

* =ik

EERZ SR BRAE

ChainSQL %

I
:
)
4

|
¥E5  PE6  WAT : S BT 2% FERZH
(e~~~ 77T h -
""" BRPR---- I e
s e ol ll e
[ i! e
nodeExporter+ h | -

I
1
I
prometheus + BA PAZ  PAS IBAN. o o ) S Jmeter F R
grafana | N L
|
|
I
|

- FE(107R) — FHAATA) -—- FHB4TR)
4 M THR
TRER THEZFR &
JA R = Jmeter i Imeter #38L FH F X chainsql £ &
AR S
s T A prometheus+nodeExporter+granfana WA S T LS RO RE - Fe An 1k B

5. MHBEXRAR

ARBIR TYEERR KRS
15 T T TA5T FEA R T A gaolili@peersafe.cn

S TATT AR DRI A e I v o B e lujinglei@peersafe.cn
B BT AR AN AL F I 3 A b L B i wangchao@peersafe.cn




@
/

6. WiHBRIZHSEE

®, PcerSafe.

EERZ SR BRAE

6.1 /N
6.1.1 4 MR (AEE)

(1) POP &%
1. Payment B4
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1.2 MiLLER

root@iZ0j10bBuobbmdaétpqg55aZ:~/testChainsgl# sh rumImeter.sh
Creating summariser <summary>
Created the tree successfully using testChainsgl.jmx
Starting standalone test € Tue Apr 27 14:43:32 CST 2021 (1619505812918)
Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
summary 1 in 00:00:00 5.1/8 Avg: 16 Min: H 16 Err: .00%) i 7 started: 7 Finished
summary 184514 in 00:00:27 6959.6/8 Avg: 12 Min: 602 Err: 0 .00%) i 100 Started: 100 Finished:
summary 184515 in 00:00:27 6908.1/s Avg: 12 Min: 602 Err: .00%)
summary 185048 in 00:00:30 6168.3/8 Avg: 15 Min: 1203 Err: .00%) Active: 100 Started: 100 Finished:
summary 369563 in 00:00:57 6516.7/s Avg: 14 Min: 1203 Err: .00%)
summary 183149 in 00:00:30 6105.0/s Avg: 16 Min: X 615 Err: (0.00%) Active: 100 Started: 100 Finished:
summary 552712 in :101:27 6374.3/s Avg: 14 Min: :+ 1203 Err: (0.00%)
summary 187511 in :00:30 6250.4/8 Avg: 15 Min: x: 404 Err: (0.00%) Active: 100 Started: 100 Finished:
summary 740223 in $01:57 6342.4/s Avg: 15 Min: 1203 Err: (0.00%)
summary 180077 in HIVH 6001.6/s Avg: 16 Min: H 498 Err: (0.00%) Active: 100 Started: 100 Finished:
summary 920300 in :02: 6272.7/8 Avg: 15 Min: : 1203 Err: (0.00%)
summary 79700 in :00: 5785.4/s Avg: 15 Min: 2 416 Err: (0.00%) Active: 0 Started: 100 Finished: 100

1000000 in 00:02:40 = 6230.9/s Avg: ] 1203 Err: 0 (0.00%)

up ... @ Tue Apr 27 14:46:13 CST 2021 (1619505973781)
of run

root@iz0j10b8uobbmdaétpg55az:~/testChainsql# sh calcul_ledger.sh
ledger time total = 159
txn_count = 1000041
txn_success = 1000041
txn_failure = 0
SUEEZBNTPS = 6289.56/s
root@iz0jl0bB8uobbmdaétpg55aZ:~/testChainsql#

1 REMIRER




120310D8 Pq
FaiE{TChainsql T :
serverListFilePath:/root/batch-SSH/serverList.xlsx
downloadDirPath: /root/batch-SSH/Download
chainsqlFilePath:/root/batch-SSH/chainsqgld.tar.gz
root@iz0jl0b8ucbbmdaétpg55aZ:~/testChainsql# sh testSubLedger.sh

Bpr 27,
INFO: Connecting to ws://172.16.144.18

2021 9:12 PM

connect success

ledger

index:157,ledger
index:158,ledger
index:159,ledger
index:160,ledger
index:161,ledger
index:162, ledger
index:163, ledger
index:164,ledger
index:165,ledger
index:166,ledger
index:167,ledger
index:168,ledger
index:169,ledger
index:170,ledger
index:171,ledger
index:172,ledger
index:173,ledger
index:174,ledger
index:175,ledger
index:176,ledger
index:177,ledger
index:178,ledger
index:179, ledger
index:180,ledger
index:181,ledger
index:182, ledger
index:183, ledger
index:184,ledger
index:185,ledger
index:186,ledger
index:187,ledger
index:188,ledger
index:189,ledger
index:190,ledger
index:191,ledger
index:192,ledger
index:193,ledger
index:194,ledger
index:195,ledger
index:196,ledger
index:197,ledger
index:198, ledger
index:199, ledger
index:200,ledger
index:201,ledger
index:202, ledger
index:203,ledger
index:204,ledger
index:205,ledger
index:206,ledger
index:207,ledger
index:208,ledger
index:209,ledger
index:210,ledger
index:211,ledger
index:212,ledger
index:213,ledger
index:214,ledger
index:215,ledger
index:216,ledger
index:217,ledger
index:218, ledger
index:219,ledger
index:220,ledger
index:221,ledger
index:222,ledger
index:223,ledger
index:224,ledger

com.peersafe.base.client.Client log
006

time:0,txn_count:20000,txn_success:20000,txn_failure:0
time:3, txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:17159,txn_success:17159,txn_failure:0
time:3,txn_count:14534,txn_success:14534,txn_failure:0
time:3,txn_count:17361,txn_success:17361,txn_failure:0
time:2,txn_count:14534,txn_success:14534,txn_failure:0
time:1,txn_count:10921,txn_success:10921,txn_ failure:0
time:1,txn_count:5413,txn_success:5413,txn_ failure:0
time:2,txn_count:11960,txn success:11960,txn failure:0
time:3,txn_count:15664,txn success:15664,txn failure:0
time:1,txn_count:12388,txn success:12388,txn_ failure:0
time:1,txn_count:5031,txn success:5031,txn failure:0
time:3,txn_count:17577,txn_success:17577,txn_failure:0
time:2,txn_count:13678,txn success:13678,txn_ failure:0
time:2,txn_count:14220,txn_success:14220,txn_failure:0
time:1,txn_count:6106,txn_success:6106,txn_failure:0
time:3, txn_count:15378,txn_success:15378,txn_failure:0
time:2,txn_count:12893,txn_success:12893,txn_failure:0
time:1,txn_count:6806,txn_success:6806,txn_failure:0
time:1,txn_count:2331,txn_success:2331,txn_failure:0
time:3, txn_count:10533,txn_success:10533,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:1,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:14414,txn_success:14414,txn_ failure:0
time:3,txn_count:15020,txn_success:15020,txn_failure:0
time:2,txn_count:11877,txn_success:11877,txn_failure:0
time:1,txn_count:9499,txn_success:9499,txn_ failure:0
time:1,txn_count:5960,txn success:5960,txn failure:0
time:2,txn_count:10412,txn success:10412,txn failure:0
time:3,txn_count:20000,txn success:20000,txn failure:0
time:1,txn_count:14585,txn success:14585,txn_ failure:0
time:2,txn_count:6647,txn success:6647,txn failure:0
time:3,txn_count:14234,txn success:14234,txn failure:0
time:1l,txn_count:11893,txn_success:11893,txn_failure:0
time:1,txn_count:9258,txn_success:9258,txn_failure:0
time:1,txn_count:2897,txn_success:2897,txn_failure:0
time:3,txn_count:11593,txn_success:11593,txn_failure:0
time:1,txn_count:8754,txn_success:8754,txn_failure:0
time:1,txn_count:4474,txn_success:4474,txn_failure:0
time:1,txn_count:4494,txn success:4494,txn failure:0
time:1,txn_count:7957,txn_success:7957,txn failure:0
time:1,txn_count:6483,txn_success:6483,txn_ failure:0
time:1,txn_count:6422,txn_success:6422,txn_ failure:0
time:1,txn_count:5576,txn_success:5576,txn_failure:0
time:1,txn_count:6580,txn_success:6580,txn_ failure:0
time:1,txn_count:5725,txn success:5725,txn failure:0
time:1,txn_count:5676,txn success:5676,txn failure:0
time:1,txn_count:4872,txn success:4872,txn failure:0
time:1,txn_count:4988,txn success:4988,txn failure:0
time:1,txn_count:5489,txn success:5489,txn failure:0
time:1,txn_count:7048,txn success:7048,txn failure:0
time:1,txn_count:4874,txn_success:4874,txn_failure:0
time:1,txn_count:6443,txn_success:6443,txn_failure:0
time:1,txn_count:6050,txn_success:6050,txn_failure:0
time:1,txn_count:8316,txn_success:8316,txn_failure:0
time:1,txn_count:8051,txn_success:8051,txn_failure:0
time:1,txn_count:7166,txn_success:7166,txn_failure:0
time:1,txn_count:5258,txn_success:5258,txn_failure:0
time:1,txn_count:4835,txn_success:4835,txn_failure:0
time:1,txn_count:5962,txn_success:5962,txn failure:0
time:1,txn_count:10717,txn_success:10717,txn_failure:0
time:1,txn_count:8276,txn_success:8276,txn_failure:0
time:1,txn_count:7291,txn_success:7291,txn_ failure:0
time:1,txn_count:3698,txn_success:3698,txn failure:0
time:2,txn_count:11148,txn success:11148,txn failure:0
time:2,txn_count:10487,txn success:10487,txn failure:0
time:1,txn_count:9983,txn success:9983,txn failure:0
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root#iz03j10b8ucbbméabtpg55azZ:~/testChainsql# sh rumJmeter.sh
Creating summariser <summary>
[Created the tree successfully using i mx
021 (1619504864228)
L readDump message on port 4445
Avg: 9 Min: 0 Max: 262 Err: 0 (0.00%) Active: 100 Started: 100 Finished:

Avg: 13 Min: 1 Max: 273 Err: (0.00%) Active: 100 Started: 100 Finished:
Avg: 11 Min: 0 Max: 273 Err: (0.00%)
Avg: 14 Min: 0 Max: 334 Err: (0.00%) Active: 100 Started: 100 Finished:
. Avg: 12 Min: 0 Max: 334 Err: (0.00%)
6206 . Avg: 14 Min: 1 Max: 322 Err: (0.00%) Active: 100 Started: 100 Finished:
5491 0 5 Avg: 13 Min: 0 Max: 334 Err: 0 (0.00%)
7 Avg: 14 Min: 1 Max: 440 Err: (0.00%) Active: 100 Started: 100 Finished: (
Avg: 13 Min: 0 Max: 440 Err: (0.00%)
34722 in 00: . Avg: 14 Min: 0 Max: 238 Err: (0.00%) Active: 0 Started: 100 Finished: 1
= 1000000 in 00:02:22 7 s Avg: 13 Min: 0 Max: 440 Erx: 0 (0.00%)
up ... € Tue Apr 27 14:30:06 CST 2021 (1619505006634)
. end of run
root@iz0j10b8uobbmdabtpq55a%:~/testChainsql# sh calcul_ledger.sh
ledger time total = 141
txn_count = 1000000
txn_success = 1000000
txn_ failure = 0
SUREKXB N TS = 7092,
root#1z0310bBucbbmdabtpq55az:~/testChainsql# J

4 RIEMHIRER
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P
2021 2:27: 36 PM

com.peersafe.base. cAlert Client log

INFO: Connect‘nq to ws://172.16.144.180:6006
connect success

ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger

index:148, ledger
index:149,ledger
index:150,ledger
index:151,ledger
index:152,ledger
index:153, ledger
index:154, ledger
index:155,ledger
index:156,ledger
index:157,ledger
index:158, ledger
index:159, ledger
index:160,ledger
index:161,ledger
index:162,ledger
index:163,ledger
index:164, ledger
index:165,ledger
index:166,ledger
index:167,ledger
index:168,ledger
index:169,ledger
index:170,ledger
index:171,ledger
index:172,ledger
index:173,ledger
index:174,ledger
index:175,ledger
index:176,ledger
index:177,ledger
index:178,ledger
index:179,ledger
index:180, ledger
index:181,ledger
index:182,ledger
index:183,ledger
index:184,ledger
index:185,ledger
index:186,ledger
index:187,ledger
index:188,ledger
index:189,ledger
index:190,ledger
index:191, ledger
index:192,ledger
index:193,ledger
index:194,ledger
index:195, ledger
index:196, ledger
index:197,ledger
index:198,ledger

time:0,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn count:20000,txn success:20000,txn_failure:0
time:3,txn_count:20000,txn_ success:20000,txn failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn _count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn failure:0
time:3,txn count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn _count:20000,txn success:20000,txn_failure:0
time:2,txn count:20000,txn_ success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_ success:20000,txn_ failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn count:20000,txn success:20000,txn failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn count:20000,txn_success:20000,txn_failure:0
time:4,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn success:20000,txn_ failure:0
time:3,txn count:20000,txn success:20000,txn failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_ success:20000,txn failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn _count:20000,txn success:20000,txn_failure:0
time:3,txn_count:20000,txn_ success:20000,txn failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn count:20000,txn success:20000,txn failure:0
time:3,txn count:20000,txn success:20000,txn_ failure:0
time:3,txn _count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:17159,txn_success:17159,txn_failure:0
time:3,txn _count:20000,txn_ success:20000,txn_failure:0
time:3,txn_count:19781,txn_success:19781,txn_failure:0
time:3,txn_count:20000,txn_ success:20000,txn failure:0
time:2,txn_count:16638,txn_success:16638,txn_failure:0
time:3,txn_count:17781,txn_success:17781,txn_failure:0
time:3,txn_count:14064,txn_success:14064,txn_failure:0
time:2,txn count:14577,txn success:14577,txn failure:0

5 ITRIXIREE

EERZ SR BRAE

Memory Basic Natwork bandwidth usage per second All

b
67 b/s
b

System Load

Disk Space Usex

ot
Ih
B
i
Ex
H¥



e, PeerSafe.

EERZ SR BRAE

2.3 RO

MK 4, 5, 6 4, M 4 49555 POP IR T InsertMent #2 HHY AR 100 J7 525 T 22
SRR, 5 INER A 100% 3 5 L iRE# 2 TPS 2 7092.19/s; X 5y AbFR5E LAY -3
W RS [R] 3s e HMCE ) WY ROT RIS 2y )5, CPU 3R Lok T imih®) 81%, 4
Lo RIK5E T CPU, WA R IEH;

(2) HOTSTUFF &%

1.Payment 8§

1.1 gt

= BTHRIRE iR

Payment %11 100 N H PR IER FhizdT 10000 ¥R RIS TPS, Wi I I [F]

1.2 WiHER

root@iZ0jl0b8uobbmiaétpg55aZ:~/testChainsgl# sh rumImeter.sh
Creating summariser <summary>
Created the tree successfully using testChainsql.jmx
Starting standalone test @ Tue Apr 27 15:14:17 CST 2021 (1619507657164)

i for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445

89262 in 00:00: 7019.1/s Avg: 9 Min: Max: 1174 .00%) Active: Started: Finished:
188129 in 00:00: 6325.4/s8 15 Min: Max: 1145 -00%) Active: Started: Finished:
277391 in 00:00: 6533.1/8 13 Min Max: 1174 .00%)
179804 in 00:00 5993.5/s 16 Min 1253 -00%) Act Started: Finishe
457195 in 00:01 6309.7/s 14 Min 1253 .00%)
174817 5827.2/s8 16 Min: 1482 .00%) Active: Started: Finished:
632012 6168.4/s 15 Min: 1482 .00%)
170873 5677.8/s 17 Min: 1433 .00%) Active: Started: Finish
802885 6057.0/8 15 Min: 1482 E .00%)
173608 5805.3/s 16 Min: 1233 .00%) t Started: Finished:
976493 6010.7/s ] 15 Min: : 1482 z .00%)

23507 2853.1/s 21 Min Max: 1022 (0.00%) i 0 Starte 00 Finished: 1
1000000 in 00:02:51 = 5858.3/s Avg 16 Min 0 Max: 1482 Err: 0 (0.00%)

up ... @ Tue Apr 27 15:17:08 CST 2021 (1619507828239)
of run

root@iz0jl0b8uobbmdaétpg55az:~/testChainsgl# sh calcul ledger.sh
ledger time total = 169
txn_count = 1000000
txn_success = 1000000
txn_failure = 0

PEKZTEMNTPS = 5917.15/s
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M EE 7, 8 A[FE H Hotstuff B35 R &% 100 1 Payment 35 &0 Thig e, 225 I #
59 100%, A2 5L iR EESEEI S 5917/s, 19 CPU i HRIKE T 66%, MAFEE A 60%,
R oy RIRGER G, MLas il R oI I

EERZ SR BRAE

2. Insertment F345

2.1 Afhgit

= BETERIZE MW=

InsertMent 3% 100 4™ &£ A2 Bhia AT 10000 K RIS TPS, Wi S [A]

2.2 Mk

Llng summariser <summar
Created the tree s ssfully using testChainsgl.jmx
Starting standalone test @ Tue Apr 27 15:32:59 CST 2021 (1619508779854)

for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on

1 00:00:00 = 4 18 18 Max: 18 Err: 0.00%) Active: 9 Started: 9 Finished: 0
236742 00:00:30 = 7979. : 11 Min: Max: 520 : Active: Started: 100 Finished:
236743 00:00:30 = 7925.0/s 11 Mir Max: 520
214332 00: 7166.1/s 13 Mir Max: 560 Active: 100 Started: 100 Finished
451075 0 7545.3/8 12 T Max: 560
200515 0 6672.9/s : 14 Max: 549 : ) Active: 100 Finished
651590 ( 7253.5/8 13 Max: 560
197349 in 00:00 6589.1/s ' 14 Mir Max: 569 Err: Acti 100 S ed: 100 Finished
848939 in (¢ = 7087.4/8 13 I Max: 569
151061 in 00 6 6/8 14 Mir Max: 533 Err ive: 0 Started: 100 Finished: 100
1000000 in 102: /s A 13 Min: 0 Max: 569 Er.
Tidying e e 3 *ST 2021 (1619508922331
end
root@iz0j10b8uobbméa6étpg55az hainsgl# sh calcul_ledger.sh
ledger time total = 143
count 1000000
0

A W

IDJLEALU‘lobEULbbmuiﬁtpqs aZ:-/testChainsql# J]

5 9 RIEMLIRERE
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root#iz0j10b8uobbmdabtpg55aZ :~/testChainsgl# sh testSubLedger.sh

Apr 27, 2021 3:32 .peersafe.base.client.Client log

INFO: Connecting to ws: .16.144.180:6006

connect success

ledger 51,ledger time:0,txn eount:20000,txn_succes: 000,tx%n_failur,

3 x152,ledger time:2,txn_count:20000,txn_success:20000,txn_fa
53,ledger time:d,txn_count:20000,txn_succes: 000,txn_failur
54,ledger time:2,txn count:20000,txn_succe 1000, txn_failur,

index:55, ledger time:3,txn_count:20000,txn_success:20000,txn_fa
index:56,ledger time:2,txn count: txn_success
index:57,ledger time:3,txn_count LXN_succe
58, ledger time:3,txn_count: ,txn_success
59,ledger time:2,txn_count:2 . U
time:3,txn_count:2000 n_success
61,ledger time:3,txn_count:20( _success
,ledger time:3,txn_count:20000,txn_succes: 000, txn_failur,
163, ledger time:3,txn_count: _success:20000,txn_failure:0
64,ledger time:2,txn_count 00, txn_success:20000,txn_failur.
time:3,txn count: ,txn _success:20000,txn failure:0
r time:3,txn_count:20000,tx = 5 000, txn_failur:
time:2,txn count:20000,tx: 000,txn_failur
time:3,txn count:20000,txn succe 0000,txn failur
time:4, txn_count:20000, txn_success: 20000, txn_failu
,ledger 3 unt:20000, tx: ccess:20000,txn_failur
171, ledger time:3,txn count:20000,txn_success:20000,txn failu
72, ledger time:2,txn_count: 220000, txn_failure:0
73,ledger time:3,txn_count 000,txn_failur
74, ledger tis _coun ) - 000,txn_failure:d
5,ledger 200 20000, txn_failure:
76,1edger time:3,txn count p 000,txn_failur,
x177, ledger time:3,txn_ (] $20000,txn_failur
78, ledger c 00, txn_succes
179, ledger time:3,txn_count:20000,txn_success:
time:3,txn_count:20000, txn_success:20000,txn_failure:0
000, txn_failur.
time:3,txn_count:
unt : _ i :
time:2,txn_count: ccess:20000,txn_failure:0
time:3,txn_count: 119000, txn_failur
time:3,txn_count: ! :13637,txn_failure:
time:3,txn_count:20000 _succe 000, txn_failur.
time:2,txn_count:20000,txn_success txn_failure:
time:3,txn_count:1871 18715, txn_failur.
178,txn failur,
91,ledger time:3,txn_count:19852 55119852, txn_failur
92,ledger time:3,txn count:20000,txn_success 00,txn_failur
3,ledger time:3,txn count:16450,txn_success:16450,txn failur

94, ledger time:3,txn_count:17687,txn_success:17687,txn_failur
95,ledger time:3,txn count:20000,txn success:
time:3,txn_coun 000,txn_success:20000,txn_failur

time:3,txn_count:20000,txn_success:20000,txn_failw
time:3,txn count:20000,txn success:20000,txn failur
99, ledger Xn_co 20000, txn_succes 000, txn_failur
100, ledger 000, txn_success:2 txn_failure:0
101,ledger t txn_count:15481,txn_asucc 5481,txn_failure:0

% Basic Memory B Network bandwidth usage per second All

System Load i Disk Space Used B

2.3 RS

M EE 9,10, 11 W i Hotstuff S35 F Y &% 100 7 InsertMent 3 Z #F S H, 325 i,
ThEN 100%, X5 I BEFI0 6993/s, KHAE BB HITE 2-4s ZIR], 325 Wi YA (6] -3
3s/ihs Ao KIREEHE, ML AR R IR IR



e, PeerSafe.
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6.1.2 4 M R(TER)

(1) POP &%
1. Payment B4

1.1 Bfhgt

=

BETERIZE

WS

Payment £ 1

100 ™ H PR IEAZ iz 4T 10000 1K

A5 TPS, Wi .} [F]

1.2 ML R

root@iZ0j10bBuobbmiabtpg55aZ

testChainsql# sh rumJmeter

Creating summariser <summary>

Created the tree successfully using testChainsqgl.jmx

Starting standalone test @ Tue Apr 27 17:19:40 CST 2021

[Waiting

summary +

summary +
+

(1619515180582)
for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
141695 in 7449.0/s Avg: 10 Min: H
176219 in 5874.0/8 Avg: 16 Min: 1167
317914 in 6485. Avg: 13 Min: 1167
167233 in 5557. Avg: 17 Min: 915
485147 in 6132. Avg: 15 Min: 1167
175652 in 5872. Avg: 16 Min: 935
660799 in 6061. Avg: 15 Min: 1167
169259 in 5642. Avg: 17 Min: 1028
830058 in 5970. Avg: 15 Min: 1167
165327 in :00: 5510. Avg: 17 Min: 858
995385 in 00:02: 5889. 16 Min: 1167
4615 in 00:00 1648. Avg: 5 Min Max: 21
1000000 in 00: 5819.9/8 Avg: 16 Min: 0 Max: 1167 Err: 0
Tidying up ... @ Tue Apr 27 17:22:32 CST 2021 (1619515352801)
... end of run
root@iZ0j10b8ucbbmiaétpg55aZ:~/testChainsql# sh calcul_ledger.sh
ledger time total = 172
txn_count = 1000000
txn_success = 1000000
txn failure = 0
BOEERXBHTPS = 5813.95/s
root8i20j10bBuobbmdaétpg55aZ:~/testChainsqgl# |J

12 BiEFHIRE R

100
100

Started:
Started:

Active:
Active:

(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)

Active: Started: 100

Active: Started: 100 Finished:

Activ Started: 100 Finished: 0

Active: 88 Started: 100 Finished: 12

Active: 0 Started: 100 Finished: 100




e, PeerSafe.

root@iz0jl0bBuobbméaétpg55ai:

jconnect success
index:133, ledger
34, ledger
5, ledger
36, ledger
index1:137, ledg

149, ledger

50, ledger

55, ledger
56, ledg:
57, ledger

61, ledg

62, ledger
63, ledger
64, ledger
165, ledger
66, ledger
67, ledger

75, ledger
176, ledger
77, ledger

84, ledger

6, ledger
87, ledger
88, ledg
89, ledger

1,ledger
195, ledger
96, ledger
97, ledger
98, ledger
9, ledger

.180:

rtxn_count
L XD _

s Exn_

txn

i, Lxn_con

,txn_count:

1,txn_count
»txn_coun
:3,txn_co

time:3,txn_coun

estChainsqgl# sh testSubLedger.sh
safe.base.client.Client log

_failure:0
xn_failure:
19672,txn_failure:
1863 xn_failu
20000,txn_failure
20000, txn_failure
_ 20000,txn_failure:
_success:9626,txn_failure:0
txn_failure:
xn_failure
20000,txn_failure
10760,txn_failure
txn_failure:

20000, txn_sucoe:
19672,txn success:
18634, txn_succe
20000, txn_succes

20000, txn_suce
20000, txn_success
:110760,txn_succe:
20000, txn_success
20000, txn_suco 20000,txn_failure
20000, txn_succ: 20000,txn_fail
120000, txn_success:20000,txn_failure:
txn_failure:
_Ssuccess:20000,txn_failure:
uccess 8832, txn_failure:0
xn_failure:0
(txn_failure:
17932,txn_failure:
8052,txn_success:8052,txn_failure
:8081,txn success:8081,txn failure:0
20000, txn_success:20000,txn_failure:
18393 ,txn success:1839
:9553,txn_success:9553,txn_failure:0
9403, txn_succes _failure
20000, txn_succes 0 xn_failure
txn_success:16713,txn_failure
11180,txn_failure:
W £8139,txn_failure:0
xn_success:20000,txn_failure:
20000, txn_success : 20000, txn_failure:
:6134,txn_success:6134,txn_failure:0
7975, txn_succe 7975, txn_failur
20000, txn_succes txn_failure:
20000, txn_success:20000,txn_failure:
9705, txn_ 9705,txn_failure:0
16509, txn_success:6509,txn_failure:0
£119623,txn_succ 19623 ,txn_fail :
118578, txn_succ 18578 ,txn_failure:
success:9997,txn failure:0
10625,txn_failure:

:17932, txn_succ

+20000,txn success:20000,txn failure
17386,txn_success:17386,txn_failure
5302,txn success:5302,txn failure:0
20000, txn_succe: 20000,txn_failure:

= txn_failure:
:10323,txn_success:10323,txn_failure:
9744,txn_success:9744,txn_failure:0
20000, txn_success:20000,txn_failure

20000,txn_failure

9571,txn_failure:
7900,txn_failure:0
7268, fai 0

10560, xn_failure
11081,txn_failure

13 ITFIXIRE

Memory Basic

Disk R/W Data
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txn_failure:0



e, PeerSafe.

1.3 ERo

MR 12, 13, 1487, A ZKE % POP 5535 Y 100 J7 payment 325 i 3E1H TPS
K 5813.95/s, A5y V&L N I [RIFE 1-5s Z[0], 58 5 %R 100%, 7 & SEIRATLAS 14 3 A 2R
MIAFIEIENAL 5 B A8 Gy SR S5 SRA], CPU B KR 67%,  PNARE ARSI E 7 N AR
R i

EERZ SR BRAE

2. InsertMent FBHI&

2.1 Bfligt

7= BTHRIRE iR

Insertment 3% 1 100 ™ H PR IEA SyizdT 10000 ¥R RIS TPS, Wi ]

2.2 MiKER

rumJmeter.s
ser <summary>

Created the tree successfully using testChainsgl.jmx

Starting standalone test @ Tue Apr 27 16:52:22 CST 2021 (1619513542872)

Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
summary
summary
summary

+ 47414 in 00:00:07 = 7014.9/8 Avg: 5 Min: 0 Max: 218 : (0.00%) Active: Started: 100 Finished:
+ 211182 in 00:00:30
= 258596 in 00:00:37
+ 208362 in :00:30
= 466958 in :01:07
+ 208365 in :00:30
+
*

7039.4/s Avg: 7 Min: Max: 327 g (0.00%) Active: Started: 100 Finished: 0
7034, Avg: 6 Min: Max: 327 Err: (0.00%)
6943.1/s Avg: 9 Min: Max: 409 H (0.00%) Active: 100 Started: 100 Finished:
6993. Avg: 8 Min: Max: 409 H (0.00%)
694 Avg: 1 Min: Max: 902 t (0.00%) Active: 100 Started: 100 Finished:
6979. Rvg: 9 Min: Max: 902 : (0.00%)
7061.6/s Avg: 12 Min: Max: 334 Err: (0.00%) Active: 100 Started: 100 Finished: 0
887172 in :02:07 6998.9/8 Avg: 10 Min: Max: 902 H (0.00%)
112828 in :00:16 6949.2/s Avg: 11 Min: Max: 322 g (0.008%) Active: 0 Started: 100 Finished: 100
1000000 in 00:02:23 = 6993.2/s Avg: 10 Min: 0 Max: 902 Erx: 0 (0.00%)
ap ... € Tue Apr 27 16:54:46 CST 2021 (1619513686237)
of run
root@iz0jl0b8uobbmdaétpg55aZ:~/testChainsgl# sh calcul_ledger.sh
ledger time total = 154
i = 1000000
txn_success 00000
txn_failure
BORAKZE S = 6493.50/8
root@iz0j1l0b8 bmda6tpg55azZ:~/testChainsql# J

675323 in 201:37
211849 in 00:00:30

[N I T

15 REMEIRER
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INFO: Connecting to ws
connect success
ledger index:101,ledger
ledger index:102, ledger
ledger index:103,ledger
ledger index:104,ledger
ledger index:105,ledger
ledger index:106,ledger
ledger index:107,ledger
ledger index:108,ledger
index:109,ledger
index:110, ledger
index:111,ledger
index:112, ledger
index:113, ledger
index:114,ledger
index:115, ledger
index:116,ledger
index:117,ledger
index:118, ledger
index:119,ledger
index:120, ledger
index:121, ledger
index:122,ledger
index:123, ledger
index:124,ledger
index:125, ledger
index:126, ledger
index:127,ledger
index:128, ledger
index:129, ledger
index:130,ledger
index:131, ledger
index:132,ledger
index:133, ledger
index:134,ledger
index:135, ledger
r index:136, ledger
index:137,ledger
index:138, ledger
index:139, ledger
index:140,ledger
index:141, ledger
index:142, ledger
index:143, ledger
index:144, ledger
index:145,ledger
index:146, ledger
index:147,ledger
index:148, ledger
index:149, ledger
index:150, ledger
index:151, ledger
index:152, ladger

1.3 B9

72.16.144.180:6006

time: count:
time:1, txn_coun

49,txn success:349,t

3 txn_succes

time:2,txn_count:20000,txn_success:

time:3,txn coun
time:3, txn_count:
time:3,txn coun
time:3, txn_coun
time:]}, txn_coun
time:3,txn coun
time:3, txn_count:
time:3,txn coun
time:3,txn_count
time:3, txn_coun
time:4,txn coun
time:3, txn_coun
time:3,txn_coun

time:2,txn_count:20000,txn_|

time:4, txn_coun
time:3,txn coun
time:3,txn_coun
time:3, txn_coun
time:4,txn coun
time:3, txn_coun

time:3,txn count:20000,txn_

time: 3, txn_coun
time:3,txn_coun
time:d4,txn coun
time:3, txn_coun
time:2,txn_coun
time:d,txn
time:3, txn

time:3, txn
time:3, txn_t
time:4, txn_
time:3,txn coun
time:3, txn_coun
time:3,txn_coun
time:4,txn_coun

0000,txn success:
0000, txn_success:
0000,txn success:
0000, txn_succes
0000, txn_succes
0000,txn success
0000, txn_success:
0000,txn success
txn_success:
. tXn_succes

uccess:
0000, txn_succes
0000, txn succes
0000, txn_succes
0000, txn_succes
0000,txn succest
0000, txn_succes
ccess:
0000, txn_succes

:20000, txn_success:

0000, txn succes
0000, txn_succes
0000, txn_succes
0000, txn_success:

385,txn_failur

20000,txn_failure:0

20000,txn fail

20000,txn_failure:

20000,txn failure
20000, txn_failur
20000,txn_failure
20000,txn fail

20000, txn_failure:

:20000,txn failure
20000,txn_failure

.,tln_fallu.
20000, txn_fail
20000,txn_failure
20000, txn_failure

20000,txn_failure:

.?OEOD,tKn_failu?e

20000,txn_fail
20000, txn_failure
20000,txn failu
0000, txn_failure
20000,txn_failure
20000,txn_fail

20000,txn_failure:

20000,txn failure
0000, txn_failure

20000,txn_failure

20000,txn_fail

:20000,txn_failure:

20000,txn_failur

120000, txn_failure

0000, txn_t
0000, txn_succe
0000, txn_success:
0000, txn_succes

time:3,txn _count:20000,txn success:

time:4,txn_c
time:3,txn_coun
time:3, txn_coun
time:3,txn count:
time:3, txn_coun
time:3,txn_count:
time:3,txn coun
time:2,txn_coun
time:2,txn_coun
time:2, txn_coun
time:2, txn coun

0000, txn_succes
0000, txn_succe:
0000, txn_succes
0000,txn_success:

20000, txn_succe

0000, txn_succes
0000, txn_success:
0000, txn succe:
0000, txn_succes
0000, txn_

0000, txn_succes
6266, txn_success:

20000,txn_failure

20000,txn_failur

20000,txn_failure
0000,txn_failur

20000,txn_failure:

0000,txn_fail
20000,txn_failure

20000,txn_failure:

120000, txn_failure:

20000,txn_failure:

20000,txn fail

20000,txn failure:

20000, txn_fail
20000,txn_failure
20000,txn fail
0000,txn_failure
20000,txn_failur
0000, txn_failure
16266,txn_fail

Memory Basic

Disk R/W Data

bandwidth

MEE 15, 16, 17 BE L, KEZ POP &34 TH Insertment #9100 AR Z IR
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TPS i 6493/s,32 5 5% 52 pk B9 Rz B B K#E A 2-4s, RRZAMINE 100%, T a8 SiRE

RIEE,

(2) HOTSTUFF &%
1. Payment B4

1.1 Bfhgt

= BTHRIRE iR

Payment #2171 | 100 ™ P &3 51247 10000 1K RIS TPS, Wi I [F]

1.2 ML R

root@i203 L0b8uobbmdabtpys5az:~/testChainsgl#é sh rumimeter.,sh
Creating summariser <summary>
Created the tree successfully using testChainsgl.jmx
[Starting standalone test € Tue Apr 27 17:51:59 CST 2021 (1619517119543)
iting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
1 in 00:00 Avg: 7 Min: 7 Max: 7 Err: .00%) Active: Started: 100 Finished]

204012 in 00:00:28 .8/s Avg: 11 Min: H 11 Err: (0.00%) Active: Started: 100 Finished]

204013 in 00:00:30 Avg: 11 ] 1211 Err: (0.00%)
179988 00:00:30 5999 Avg: 16 H 1369 Err: (0. Active: Started: Finished

384001 in 00:01:00 6391 Avg: 13 : : 1369 Err: (0.00%)
187396 in 00:00:30 6246 Avg: 15 : : 1590 Err: (0.00%) Active: Started:

571397 in 00:01:30 = 6343 Avg: 14 : : 1590 Err: (0.00%)
180815 in 00:00:3 6026. Avg: 16 Min: : 1584 Err: (0.00%) Active: Started: Finished

752212 in 00:02:00 6264 Avg: 14 Min: 1590 Err: (0.00%)
180197 in 00:00:30 6007 Avg: 16 Min: 1313 Err: (0.00%) Active: Started: 100

932409 in 00:02:30 6212. Avg: 15 Min: s 1590 Err: (0.00%)
67591 in 00:00:13 5315.0/s Avg: 16 Min: Max: 1461 Err: (0.00%) Active: 0 Started: 100 Finished:

1000000 in 00:02:43 = 6142.6/8 Avg 15 Min: 0 Max: 1590 Err: 0 (0.00%)
Up sss @ Tue Apr 27 17:54:42 CST 21 (1619517282717)
of run
€i20j10b8uobbmdabtpg55aZ:~/testChainsgl# sh calcul_ledger.sh

ledger time total = 161
jtxn_count = 1000000
ftxn_success 1000000
ftxn_failure = 0

BHTPS =
o

18 REFMHIRERE
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27

ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger

jlobBucbbmdabtpy te
:51:51 PM com.peer

, 2021
Connecting to ws
ess
index:38,ledger
9, led:
ledger

ex:42,ledger
index:43,ledger
144, ledger
145, le
:46,ledger
47,ledger
18, ledge
9,ledge
:50,ledger

/172.16.144.180:6006

2,txn_count:20000,
time:3,txn count:20000,
time xn_ t:20000,
time:3,txn_count:20000,
time:2,txn_count:20000,
time:4,txn _count:20000,
time:2,txn_count:20000,
time:3,txn_count:20000,
time:2,txn_count:20000,
time:4,txn_co '
time:3,txn_count:20000,

:3,txn_count:2

tChainsql# sh g
afe.base.client.Client log

n_success:l6?4,txn failure:0
_success:20000,txn_ failur
txn success:20000,txn failure:0
txn_success:20000,txn_failur
txn_success:20000,txn_failure:
_success:20000,txn_failur
txn_suc :20000,txn_failure
$20000,txn_failu
txn_; :20000,txn_failure:0
txn_success:20000,txn_failur
txn_suec :20000,txn_failure
txn_succ :20000,txn_failur
:20000,txn_failure

1,ledger xn_count: e
52,ledger t unt:20 0 failu
t53,ledger ti xn_count:20000,txn : 000,txn_failure
54, leds xn_count:20000,tx 0000, txn_failur
ledger count:16353,txn_success:16353,txn failure
ledger ¢ ' _count:15367,txn_succes _failu
ledger i 2,txn_count:20000,txn_success:20000,txn_failur
ledger 3,txn_count:16342,txn _success:16342,txn_failu
ledger :3,txn_count:20000,txn success:20000,txn_failure
20000, txn_suce :20000,txn_failu
20000, txn_success:20000,txn_failure
3,txn count:15228,txn success:15228,txn failu
time:3,txn_count:18957,txn_success:18957,txn_failur
time:d,t 20000, txn_: $120000,txn_failur
time:3,txn 20000, txn_success:20000,txn_failure
time:3, b 19936,txn success:19936,txn_ failure
time:3, -:117684,txn_success:17684,¢t
time:3,txn_count:20000,txn_success
time:3,tx

ledger success

14322,txn_failur
15365,txn_failur
:20000,txn_failure
:18211,txn_failure
time:3,txn _count:16806,tx 16806,txn_ failur
time:3,txn count:13148,txn success:13148,txn failure
time:3, _count:20000,txn_success:20000,txn_failur
2:3,txn_count:14491,txn_success:14491,txn_failure
time:3,txn_count:20000,
time:4,txn_count:20000,txn_succe
time:3, count:20000,txn_
time:3,txn_count:20000,txn_:
time:3,txn_count:18818,txn_success
time:4, count:16376,tXn_success
time:3,txn_count:20000, _succ =
time:3,txn_count:20000,txn_success:20000,txn_failure
time:3,txn_count:20000,txn_success:20000,txn_failure
time:5, 20000,t success
time:: 20000,txn_succ :120000,txn_failure
time:3,txn_count:16357,txn_success:16357,txn_failur
time:2,txn_count:13118,txn success:13118,txn failure:

ledger
ledger

15365, txn_suc

20000, txn_su

18211, txn_succes
ledger
ledger
ledger
ledger
ledger

_success

ledger
ladger

90, ledger
91, ledger
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1.3 ERo

MIE 18, 19, 20 4MHTH, #KES) hotstuff YA Y payment #1100 J74#0 4%, I
BERL IR R 100%, 530 6211.18/s, A5 LA M I A] R 2-5s, T mALER IR
i FHIEH .

2. InsertMent FE{5l

2.1 Bt

= BITHRIRE iR

Insertment 3% 1 100 ™ PR IEAZ Z5ia4T 10000 ¥R RIS TPS, Wi ]

2.2 MXLER

root®iZ03j10b8uobbmdabtpg55aZ:~/testChainsgl# sh rumJmeter.sh

‘reating summariser <summary>

reated the tree successfully using testChainsgl.jmx

Starting standalone test @ Tue Apr 27 16:09:47 CST 2021 (1619510987220)

i for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445

115621 in 00:00:12
246746 in 00:00:30
36236 142
233599 +30
595966 in 00:01:12

Avg: 8 Min: 0 Max: 502 Err: (0.00%) Active: Started: Finished:
Avg: 11 Min: 1 Max: 576 Err: (0.00%) Active: Started: Finished:
Avg: 10 Min: 0 Max: 576 Err: 0 (0.00%)

Avg: 12 Min: 1 Max: 602 Err: (0.00%) Active: 100 Started: 1 Finished:
Avg: 11 Min: 0 Max: 602 Err: (0.00%)

217953 in 00:00:30 Avg: 13 Min: 1 Max: 783 Err: (0.00%) Active: 100 Started: 100 Finished:
813919 in )3 142 Avg: 11 Min: 0 Max: 783 Err: (0.00%)

186081 in 0 128 6 «8/¢ H 13 Min: 0 Max: 597 Err: (0.00%) Active: 0 Started: 100 Finished: 100
1000000 in 00:02 E s 12 Min: 0 Max: 783 Err: 0 (0.00%)

LI T

ledger time total = 149
jtxn_count = 1000000
success = 1000000

? = 6711.40/8
2iZ0j10b8ucbbmda6tpg55aZ:~/testChainsgl# [|
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00t@i203j10b8uobbmdaétpg55aZ:~/tes
hpr 27, 2021 4:08:01 PM com.peersafe.base.client.Client log
NFQ: Connecting to ws://172.16.144.180:6006
onnect success
index:46,ledger time:0,txn count:14336,txn_success:14336,txn_failure:0
index:47,ledger time:2,txn_count:20000,txn_success:20000,txn_failure:0
index:48,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
index:49,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
index:50,ledger time:3,txn count:20000,txn_success:20000,txn failure:0
index:51, ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
1 time:3,txn_count:20000,txn_: H _failure:0
time:3,txn _count:20000,txn_ . 2 n_failure:0
index:54,ledger time:3,txn count:20000,txn success:20000,txn failure:0
index:55,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
index:56,ledger time:3,txn_count:20000,txn_success: £ _failure:0
index:57 time:3,txn_count:20000,txn_success: ' _failure:0
index:58 time:4,txn_count:20000,txn_success: a n_failure:0
:3,txn_count:20000,txn_success: L _failure:0
:3,txn_count:20000,txn_success:20000,txn_failure:0
t3,txn_count:20000,txn_success: _failure:0
Exn_count:20000,txn_success:20000,txn_failure:0
t4,txn_count:20000,txn_success:20000,txn_failure:0
:3,txn_count:20000,txn success: _failure:0
13,txn_count:20000,txn_success:20000,txn_failure:0
Exn_count:20000,txn_success:20000,txn_failure:0
index:67, ledger txn_count:20000,txn_success:20000,txn_failure:0
index:68, ledger :3,txn_count:20000,txn_success:20000,txn_failure:0
index:69,ledger time:4,txn_count:20000,txn_ success:20000,txn_failure:0
index:70,ledger ti (txn_count:20000,txn_success:20000,txn_failure:0
index:71,ledger ti txn_count:20000,txn_succe: 20000,txn_failure:0
index:72, ledger :4,txn_count:20000,txn_success:20000,txn_ failure:0
r index:73,ledger i :3,txn count:20000,txn success:20000,txn failure:0
index:74,ledger time:3,txn _count:20000,txn_success:20000,txn_failure:0
index:75,ledger time:3,txn_count:20000,txn_success: _failure:0
index:76, ledger ¢3,txn_count:20000,txn_success: 7 _failure:0
index:77,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
index:78,ledger :3,txn_count:20000,txn_success:20000,txn_ failure:0
index:79,ledger time:4,txn count:20000,txn_success:20000,txn_failure:0
index:80, ledger t3,txn_count:20000,txn_success:20000,txn_failure:0
index:81, ledger time:3,txn_count:20000,txn_succes 20000,txn_failure:0
index:82,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
- index:83,ledger time:3,txn _count:20000,txn success:20000,txn failure:0
index:84,ledger time:3,txn_count:20000,txn_success:20000,txn failure:0
index:85, led: time:4, txn count:20000,txn success:20000,txn failure:0

22 TR XHRE
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0o, PeerSafe.

4 IERE SR RAT
6.1.3 4 MR (AR X 1)

1. RXKEERE

T RANLEE XA TR MREARE

—k

= foJ B =#188, 8c16g, & 100M, ubuntu18

foJ B =#8%, 8c16g, & 100M, ubuntu18

B 2 FIE =ML, 8c16g, HEE 100M, ubuntu18

2.AFhIH A TS
(1) POP &%
1. Payment 3§

1.1 Bt

= BT RIRE MW=

B

Payment 2 1 100 N PR IEAE Z54T 10000 R | 3R1E TPS, i B B[]

1.2 ML R

sh rumJmeter

Created the tree successfully using testChainsgl.jmx
Starting standalone test € Thu Apr 29 11:40:34 CST 2021 (1619667634631)
iting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445

I | :0 5.9/8 Avg: 15 Min: 15 Max: 15 Err: .00%) Active: 4 Started: 4 Finished: 0
134197 )0: 5365.9/8 Avg: Min: Max: 2013 Err: .00%) Active: 50 Started: 50 Finishe
134198 i :00: 5329.8/s Avg: Min: Max: 2013 2 .00%)
165102 0 5523.5/38 Avg: Min: Max: 1323 .00%) Active: 50 Started: 50 Finished:
299300 i 0: 5434.9/8 Avg: Min: 0 Max: 2013 0.00%)
159088 :00: -4/8 Avg: Min: Max: 1492 H .00%) Active: 50 Started: Finished:
458388 3 91.4/8 Avg: Min: Max: 2013 Er .00%)
148406 i . Avg: Min: Max: 1380 E .00%) Active: 50 Started: Pinished:
606794 i s 5275.5/8s Avg: 9 Min: Max: 2013 H «00%)
158341 t 5278.0/8 Avg: int Max: 1495 ] .00%) Active: 50 Started: Finished:
765135 i t % Avg: : Max: 2013 ] .00%)
171911 2 7 .5/8 Avg: 2 Max: 2022 E .00%) Active: 45 Started: 50 Finished:
937046 0: 8 Avg : 0 Max: 2022 E '.DO!)
62954 z 4478.2 Avg Max: 1497 H 0.00%) Active: 0 Started: 50 Finished: 50
1000000 in 00:03:09 .5/s Avg: 0 Max: 2022 Err: 2 (0.00%)

up ... € Thu Apr 29 11:43:44 CST 2021 (1619667824069)

... end of run
root@iZ0jl2gwSmur9c8yz5x9aeZ:~/testChainsql# sh calcul ledger.sh
ledger time total = 190
txn_count = 1000
txn_success 1000000
txn_failure = 0
ﬁn,‘iﬂﬁ"gmns = 5263.15/s
root@iZ0j12gwSmurdcByz5x9JaeZ: ~/testChainsql# |

+ 0 +0++

+
+
+
+
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e, PeerSafe.

jbmi‘;tb%ﬂ&ﬁﬁ& /N

1.3 &R

M 24, 25, A5 SAFRTEA R XIS, 100 J1 22530 5 4iH TPS ohy 5263/s 52 5 WL
I 100%, 17 SRS CPU e R T 65%, 225 KiEMIFR 45 S LA AUk o 1 4

2. Insertment EH

1.1 Bt

= BITHRIRE b=

Payment $%11 100 N PR IER FyizdT 10000 ¥R RIS TPS, Wi I [F]

1.2 ML R

Starting standalone test @ Thu Apr 29 11:29:14 CST 2021 (1619666954890)
for possible Shutdown np“eq Vnd’HeaD?ump/ThreadDump message on port 4445
279 0 8 Min: 1267 Err: .00%) Active: 50 Started: 50 Finishe
216729 i :00: 7224. H Min: : 3356 Err: .00%) Active: Started: 50 Finished:
320008 i : H 7148. H Min: 3356 Err: .00%)
208094 i : 6936. : Min: 1267 Err: .00%) Active: 50 Started: 50 Finished:
528102 i H 7063.2/ ] Min: 3356 Err: .00%)
187733 100 6257 ] Min: K t 1285 Err: .00%) Active: Started: 50 Finished:
715835 i 6832. | K 3356 Err:
184940 6164.7/s ] 1207 Err: .00%) Active: Started: 50 Finished:
900775 1 H 6683. ] » 0 56 Err: b )
99225 H 5960. ¥ Err: .00%) Active: Started: 50 Finished: 50
1000000 in 00: 02 31 = 6604. 3' vg: in: : 3356 Err: 6 (0.00%)
& Thu Apr 29 11: 6 Cs 21 (1619667106648)
i of run
xoot@)lel2qh5er°c8y 5x9aeZ:~-/testChainsql# sh calcul_ledger.sh
ledger time total 1
1000000
1000000

txn_failure
BPEEZBNTPS = 6024.09/s
root@i20§12gwSmur9dc8yz5x9aez:~/testChainsql# I
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Apr 29, 2021 11:29
INFO: Connecting to ws
connect success
ledger i
edger
adger

ledger

2:3,txn_count:

time
time
time

-ime

r time

ﬁn,ledger
index:101, ledger

index:113, ledger
14, ledger
15, ledger
16, ledger
17, ledger
18, ledger
index:119, ledger

index:122Z, ledger
23, ledger
24, ledger
25, ledger
26,ledger

System Loa

1.3 &R

MK 26, 27, 28 L&, I

time
time

~/testChainsql# sh testSubLedger.sh

1. peersafe.

.16.144.198:

LEXn_count:

:3,txn_count
2,txn_count
4,txn_coun
:3,txn_count
3,txn_count
5,txn coun
:3,txn_count
:3,txn_count
13,txn_count

.client.Client 1
6006

529,txn_success:52

:6,txn_count:2

13,txn_count

:3,txn_count:

t4,txn_count
13,txn_count

:),txn_count:

:3,txn_coun
:3,txn_count

:3,txn_count:

13,txn_coun
:4,txn_count

:3,txn_count:

13, txn_coun

time:3,txn_coun

time:

d

20000,txn_success:
20000, txn_success
20000,txn_s
20000,txn_succes
20000,txn_success
20000,txn_success:
00,txn_suc
20000, txn_success
20000,txn_success:
20000,txn_suc
20000, txn_success
20000,txn success:
20000,txn_success:
0000, txn_succes

0000, txn_succes
10, txn_suc:
:20000,txn_succe
000, txn_succes
9945, txn_succes
:200 3
0000, txn_succes
0000,txn_succe

:19937,txn_success:

000, txn_succes
000,txn_succe

000, txn_succes
000,txn succe
:20000, txn_succes
0000, txn_succes
0000,txn succe
:20000,txn_succes
0000, txn_succes

:20000,txn_success
0000, txn
0000,txn_s
0000, txn_succes
9589, txn_succe

& 27

og

9,txn_failure:0
0000, txn_failur
000,txn_failur
0000,txn failur
000,txn_failur
000,txn_failur
0000,txn failur
0000, txn_failur
0000,txn_ failur
0000, txn_failur
00,txn_failur
20000,txn_failur
0000,txn_failur
20000, txn_failure
20000,txn failur
0000, txn_failur
20000,txn_failure
0000,txn_failur
000, txn_failur
20000,txn_failure
0000,txn_failur
000,txn_failur
20000,txn_failure
20000,txn_failur
000,txn_failure:

4,txn count:20000,txn success:20000,txn failure:

ytxn_failure:
txn_failure:
,txn failure:
ytxn_failure:
(txn_failure:
+txn_failure
,txn_failure:
0,txn_failure:
19937,txn failure:
0000, txn_failure:
0000,txn_failure:

0,txn_failure:
(txn failure:
0000,txn_failure:
0,txn_failure:
+txn failure:
ytxn_failure:
(txn_failure:
stxn_failure:
20000, txn_failure:
0000,txn_failure:
0000, txn_failure:
0000,txn_failure:
9589 ,txn_ failure:

1T KERES

Memory Banc

[

PN

SRR [A] X3, POP 55

VA

& bandwidth usage pes secand Al

Disk Space Used's Basic

%KY Insertment 32 1 100 J7 AL 5 3

THAY TPS A 6024/s, 28 55 IR A 100%, 325 FEEEHF MR R R 2-4s, 7 bl o Rl

IR
3 e



e, PeerSafe.

EERZ SR BRAE

6.1.4 4 MR (SECH2R)

(1) PRy=REE

MR EHtE R BIERS Rz

Fil L =ML CPU:16C W1#:32G Ubuntu18.04 $4 7 chainsql 715 &
i 4%:540G

HETE100M

(2) POP &%
1.Payment 8§

1.1 gt

= BITHRIRE b=

Payment %1 100 M P &R AL 84T 10000 % | 3545 TPS, 0 i 1 [A]

1.2 MiHER

root@izZ2ze0t3594oxfgclsevtyZ:~/testChainsql# sh runJmeter.sh
52 =1: not found
U:JSBloqucEse\tyz /testChainsql# Creating summariser <summary>
e tree successfully using testcnaxnsc] Jmx
tandalone test @ Wed May 12 3: ']' ZDLI (1620787987715)
ssible Shutdown/StopTestN
= 14715 g 6 Min: 0 Max: 4 Err: 0 (0.00%) Active: 100 Started: 100 Finished: 0
13737. rg: 7 Min: 0 Max: Brr: 0.00%) Active: 100 Started: 100 Finished: 0
14151. rg: 6 Min: 0 Max: 479 Err: 0 (0.00%)
summary 261375 in 00:00: 12523 5 Av 7 Min: 0 Max: 338 Er:‘ 0 (0.00%) Active: 0 Started: 100 Finished: 100
summary 1000000 in 00:01:13 13 1 7 Min: 0 Max: 479 Err: 0 (0.00%)
Tidying @ Wed May 12 10:54:20 CST 2021 (1620788060965)
. end
AC
root@iz2zelt3594oxfqclsevtyZ:~/testChainsql# sh calcul_ledger.sh
ledger time total = 102
txn_count = 1000000
txn_success 000000
txn_failure
BYPREXBMTPS = 9803.92/s
root#iZ2ze0t1594oxfgcOsevtyZ:~/testChainsql#
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root¥122ze0t3594oxfqclsevtyZ:~/testChainsql# s d SublLedger.sh

May 12, 2021 10:52:52 AM com.peersafe.base.client.Client log

INFO: Connecting to ws://172.17.204.137:6006

connect success

ledger index:43,ledger time:0,txn_count:2747,txn_success:2747,txn_failure:0

ledger index:44,ledger time: 1£:20000, txn_success:20000,txn_failure:
ledger index:45,ledger time:2,txn_count:20000,txn_success:20000,txn_failure:(
ledger index:46,ledger time:2,txn count:20000,txn success:20000,txn failure:
ledger index:47,ledger ti :2,txn_count:20000,txn_success:20000,txn_failure:
ledger index:48,ledger ti ,txn_count:20000,txn_success:20000,txn_failure
ledger index:49,ledger ti 20000, txn success:20000,txn failure:
ledger index:50,ledger time:2,txn_count:20000,txn_success:20000,txn_failure:
ledger time:2,txn_count:20000,txn success:20000,txn_failure:
ledger index:52,le sr time:2,txn_count:20000,txn_success:20000,txn_failure:
ledger index:53, i (txn_count:20000,txn_success:20000,txn_failure:
ledger index:54, i ,txn count:20000,txn success:20000,txn failure:
ledger index:55,ledger (txn_count:20000,txn_success:20000,txn_£failure:
ledger index:56,ledger ti :2,txn_count:20000,txn success:20000,txn_failure:
ledger index:57,ledger :2,txn count:20000,txn success:20000,txn failure:
ledger index:58,ledger time:2,txn_count:20000,txn_success:20000,txn_failure:
ledger index:5 edger ti ,txn count:20000,txn success:20000,txn failure:
ledger index:60,ledger ti Etxn_count:20000,txn_success:20000,txn_failure
ledger index:61,ledger ti (txn_count:20000,txn_success:20000,txn_ failure:
ledger index:62,ledger time:2,txn count:20000,txn success:20000,txn failure:
ledger index:63,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:
ledger index:64,ledger ti (txn_count:20000,txn success:20000,txn_failure:
ledger index:65,ledger txn_count:20000,txn_success:20000,txn_failure:
ledger index:66,ledger ,txn_count:20000,txn_success:20000,txn_failure:
ledger index:67,ledger ti ,txn count:20000,txn success:20000,txn failure:
ledger index:68,ledger ti ,txn_count:20000,txn_success:20000,txn_£failure:
ledger index:69,ledger :2,txn_count:20000,txn success:20000,txn_failure:
ledger index:70,ledger :2,txn_count:20000,txn_success:20000,txn_failure:
ledger index:71,ledger time:2Z,txn_count:20000,txn_success:20000,txn_failure:
ledger index:72,ledger time:2,txn count:20000,txn success:20000,txn failure:
ledger index:73,ledger 1 txn_count:20000,txn_success:20000,txn_failure:
ledger index:74,ledger ti (txn_count:20000,txn_success:20000,txn_failure:
ledger index:75,ledger time:2,txn count:20000,txn_success:20000,txn failure:
ledger index:76,ledger time:2,txn_ count:20000,txn_success:20000,txn_failure:
ledger index:77,ledger ti txn_cou 20000,txn success:20000,txn_ failure:
ledger index:78,ledger txn_count:20000,txn_success:20000,txn_failure:
ledger index:79,ledger ,txn_count:20000,txn_success:20000,txn_failure:
ledger index:80,ledger time:2,txn count:20000,txn success:20000,txn failure:
ledger index:81,ledger ti : i 20000, txn_success:20000,txn_failure:
ledger index:82,ledger ti (txn count:20000,txn success:20000,txn_ failure:
ledger index:83,ledger t (txn_count:20000,txn_success:20000,txn_failure:
index:84,ledger time:2,txn_count:20000,txn_success:20000,txn_£failure:
index:85,ledger time:2,txn count:20000,txn success:20000,txn failure:
index:86, ledger 1 (txn_count:20000,txn_success:20000,txn_failure:
index:87, ledger ti txn_count:20000,txn success:20000,txn_failure:
index:88, ledger 1 :2,txn count:20000,txn success:20000,txn failure:
index:89,ledger time:1,txn_count:20000,txn_success:20000,txn_failure:
index:90,ledger time:2,txn count:20000,txn success:20000,txn failure:
index:91,ledger ti txn_count:20000,txn_success:20000,txn_failure:
index:92,ledger ti (txn_count:20000,txn_success:20000,txn_£failure:
r index:93,ledger time:2,txn_count:17253,txn_ success:17253,txn_failure:

—R-T-E-X-1-

coocoo

—E-E-E-E-E-E-K-]

- E-E-E-E-E-R-E-E-E-K-E-E-X-]

root@iz2ze0t3594oxfgclsevtyZ:~/testChainsgl#

30 T X4

1.2 MiALER

M 29,30 FH i, 16c32G HIHLES &% 100 AR Y, FEiH TPS Wik 9802.92/s,
K 100%.

(8) HOTSTUFF &%
1.Insertment F#I
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e, PeerSafe.

EERZ SR BRAE

7= BTHRIRE

iR

insertment % [ 100 N H PR IER FyizdT 10000 ¥R

A5 TPS, M Hsf [a]

1.2 WiHER

root#iZz2zelt3594oxfqclsevtyZ:~/testChainsql# sh runJmeter.sh
runJmeter.sh: 5: runJmeter.sh: -1:
root@i%2ze0t3594oxfqclsevty?:-/testChainsql# Creating summariser <summary>
Created the tree successfully using testChainsgl.jmx
Starting standalone test £ Wed » 620806380350)
Waiting for possible Shutdown/ apDump/ThreadDump message on port 4445
278193 in 00:00:19 29 0 Max: 546 Brr:
1 Max: 658 Err:
- i g ¥ 0 Max: 658 Err:
+ 0 Max: 612 Err:
9/8 Avg: 7 Min: 0 Max: 658 Err:
56 CST 2021 (1620806456497)

= 1000000 in 00:01:16 =
up ... € Wed May 12 16
of run

root#iz2ze0t35940xfgclsevty

ledger time total = 107

xn_count = 1000000
1000000

/testChainsql# sh calcul_ledger.sh

/testChainsql# |
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100 Startex
100 Starte

00 Finished: 0
00 Finished: 0

0%) Active: 0 Started: 100 Finished: 100

(0.00%)




e, PeerSafe.
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4 gclsevtyZ:~/testChalnsg testSubledger.sh
, 2021 3:59:26 PM com.peersafe.base.client.Client log
Connecting to ws://172.17.204.137:6006
connect success

ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger
ledger

index:105, ledger
index:106, ledger
index:107,ledger
index:108, ledger
index:109,ledger
index:110, ledger
index:111, ledger
index:112, ledger
index:113, ledger
index:114,ledger
index:115, ledger
index:116,ledger
index:117, ledger
index:118, ledger
index:119,ledger
index:120, ledger
index:121, ledger
index:122, ledger
index:123, ledger
index:124,ledger
index:125, ledger
index:126, ledger
index:127,ledger
index:128, ledger
index:129,ledger

time:
time:
time:
time:
time:
time:
time:
time:
time:

time

time:
time:
time:
tTime:
time:
time:
time:
time:
time:
time:

time
time

index:130, ledger ti

index:131, ledger
index:132, ledger
index:133, ledger
index:134,ledger

index:135, ledger ti
index:136,ledger t

index:137,ledger
index:138, ledger
index:139,ledger

index:140, ledger ti

index:141, ledger
index:142, ledger
index:143, ledger
index:144,ledger

0,txn count:20000,txn success:20000,txn failure:0

2,txn_coun
2,txn_coun
2,txn_coun
3,txn_coun
2,txn_count
2,txn_coun
2,txn_count
2,txn_count
3,txn_coun
2,txn_coun
3,txn_count
2,txn_coun
2,txn_coun
3,txn_coun
2,txn coun
2,txn_c
2,txn_coun
3,txn_coun
2,txn_coun
3,txn coun

:3,txn_coun
12,txn_coun
:3,txn coun
:2,txn_coun
:2,txn_coun
:3,txn_coun
t2,txn_coun
:2,txn count
:3,txn_coun
:2,txn_coun

n:2,txn coun

r index:145, ledger ti

index: 146, ledger

index:147,ledger t

index:148, ledger

12,txn_coun
:2,txn coun
:12,txn_count
:2,txn_coun

2:1,txn_coun

index:149,ledger t
index:150, ledger t

index:151, ledger
index:152, ledger
index:153, ledger
index:154,ledger

12,txn_coun

2,txn coun
txn_
2,txn coun

2:2,txn_coun

:1l,txn_count:

0000, txn_success
120000, txn_success
0000, txn_success
0000, txn_success
:20000, txn_success
0000, txn_success
:20000,txn_success
:20000,txn_success
0000, txn_success
0000, txn success
120000, txn_success
0000, txn_success
0000, txn_success
0000, txn_success
0000, txn success
0000, txn_success
0000, txn_success

0000, txn_success:
+20000,txn_success:
0000, txn success:
0000,txn_success:
0000, txn_success:
0000, txn_success:
0000, txn_success:
0000, txn success:
0000,txn_success:
:20000,txn_success:
0000, txn_success:
0000, txn_success!:
:20000,txn success:
0000,txn_success:
0000, txn_success:
0000, txn_success:
0000, txn_success:
0000, txn success:
0000, txn_success:
0000, txn_success:
:20000,txn_success:
0000, txn_success:
0000, txn success:
:20000,txn_success:
0000, txn_success:
:20000,txn_success:
120000,txn_success:
0000, txn success:
0000, txn_success:
0000,txn_success:
0000, txn_success:
0000,txn_success!

:20000,txn_failure:0
120000,txn_failure:0
:20000,txn_failure:0
120000,txn_failure:0
:20000,txn failure:0
120000,txn_failure:0
120000,txn_failure:0
:20000,txn_failure:0
120000,txn_failure

:20000,txn failure:0
120000,txn_failure:0
:20000,txn_failure:0
:20000,txn_failure:0
120000,txn_failure:0
:20000,txn failure:0
:20000,txn_failure:0
:120000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn failure:0
20000, txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure

20000,txn failure

20000,txn_failure

20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn failure:0
20000, txn_failure:0
20000,txn failure:0
20000,txn_failure:0
20000,txn_failure:0
20000, txn_failure:0
20000, txn_failure:0
20000,txn failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
20000,txn_failure:0
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MK 31, 32 ER[EH, £ hotstuff LR &% 100 TEHAR Y, LR TPS Ak
9345.79/s, XIRVEHREFIE R 1-3s BARZ GV SEM; 35 BMIEN 100%.
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(1) POP &%

1.Payment 8§



@
/

1.1 gt

®, PcerSafe.

EERZ SR BRAE

7= BTHRIRE iR

Payment %1 100 M PR IEAZFE4T 10000 K | 3545 TPS, Wi b it []

1.2 WiHER

root€1Z03]10bBuobbmdastpg55aZ:~/testChainsql# sh rumJmeter.s
Creating summariser <summary>
Created the tree successfully using testChainsql.jmx
Starting standalone test @ Tue Apr 27 20:15:23 CST 2021 (1619525723669)
Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
summary 43043 t 6 7247.5/s 8 : Max: 467 Err: (0.00%) 1 | Finished:
summary 172327 i H 1 in: 0 Max: 1180 Err: (0.00%) i ) § 0 Finished:
summary 215370 :00: Iy 3 Max: 1180 Err: (0.00%)
summary 213934 H 0 H + 1262 Err: (0.00%) Active: 100 Started: 0 Finished:
summary 429304 H 3 = t 1 H 1262 Err: (0.00%)
summary % .6/8 s H » 1077 Exr: (0.00%) Active: 0 Start 100 Finished:
summary i : ; s in: ) 1262 Err: (0.00%)
143036 : ( . s s ¥ 611 Err: (0.00%) Active: Started: 100 Finished: 0
714079 6 .0/ Avg: H Max 1262 Err: (0.00%)

162014 i - F in May 630 Err: (0.00%) Active: 100 Started: 100 ished: 0

B76093 6 .2/ t | t X 1262 Err: (0.00%)

123907 <3/ : Max: 908 Err: (0.00%) Active: 0 Started: 100 Finished: 100
/ 0 Max: 1262 Err: 0 (0.00%)

@ Tue Apr 27 20:18:23 CST 2021 (1619525903538)

ledger time total 181

txn_count = 1000000

txn_success 1000000

txn_failure [}

FPEKZBMTPS = 5524.86/s
root@i20j1l0bBuobbmdaétpg55aZ:~/testC
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8, PoerSafe.

EERZ SR BRAE

root€@iZ0jl0b8uobbmdabtpg55aZ:~/testChainsgl# sh testSubLedger.sh
BApr 27, 2021 8:15:06 PM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.177:6006

connect success

ledger i
ledger i

38, ledger
39, ledger

ledger i
ledger i

ledger
ledger

index:142,ledger
index:143,ledger
1ndex~144 ledger

50, ledger
51, ledger
52, ledger
index:153,ledger
index:154,ledger
55,ledger
56,ledger
index:157,ledger
index:158,ledger
59,ledger
60, ledger
61,ledger
62,ledger
63, ledger
index:164,ledger
i 65,ledger
index:166,ledger
i 67,ledger
68, ledger
69, ledger
index:170,ledger
71,ledger
72,ledger
index:173,ledger
index:174,ledger
75,ledger
76,ledger
index:177,ledger
1ndex 178, ledger
79, ledger
80,ledger
81, ledger
lndex'lsz ledger
83, ledger
84, ledger
85,ledger
index:186,ledger
87,ledger
88, ledger
89, ledger
index:190,ledger
91, ledger
92,ledger
93, ledger
index:194, ledger

96, ledger
index:197,ledger
index:198,ledger

99,ledger

00, ledger

01, ledger

02, ledger

03, ledger

04,ledger

05, ledger

06, ledger

07,ledger

08, ledger

09,ledger

10, ledger
index:211,ledger

12,ledger

13,ledger
14,ledger

15, ledger

16,ledger

17,ledger
18,ledger

19, ledger

20, ledger
index:221,ledger

index:226,ledger

time:0,txn_count:20000,txn_success:20000,txn failure:0
time:3,txn_count:18189,txn success:18189,txn failure:0
i ,txn_count:19079,txn_success:19079,txn_failure:0
,txn_count:16242,txn_success:16242,txn_failure:0
time:1,txn_count:7787,txn_success:7787,txn_failure:0
time:3,txn_count:17724,txn_success:17724,txn_failure:0
tlme'3 txn count:19689,txn success'19689 txn failure:0
,txn_count:20000,txn_success:20000,txn_failure:0
tlme's txn_count:20000,txn success'ZODOU txn_failure:0
rtxn count:20000,txn_ success:20000, txn failure:0
,txn_count:18897 txn_success-lﬁEQT txn_failure:0
time:2,txn_count:8145,txn_success:8145,txn_failure:0
time:1,txn_count:7622,txn success:7622,txn_failure:0
tlme'l txn_count:6192,txn_success:6192,txn_failure:0
,txn count:5127,txn_success:5127,txn failure:0
yExn_count:4953,txn_success:4953,txn_failure:0
time:1,txn_count:4525,txn_success:4525,txn_failure:0
0 ,txn_count: 20000 txn_su:cess-ZﬂOOﬂ txn_fallure~0
time:7,txn_count:20000,txn success:20000,txn failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
i (txn_count:20000,txn_ success:20000,txn_failure:0
,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn failure:0
time:2,txn_count:20000,txn_success:20000,txn failure:0
time:3,txn_count:20000,txn success:20000,txn_ failure:0
time:2,txn_count:20000,txn_success:20000,txn failure:0
yExn_count:20000,txn_success:20000,txn_failure:0
txn_count:20000,txn_ success:20000,txn failure:0
:2,txn _count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:20000,txn success:20000,txn_ failure:0
(txn_count:20000,txn_success:20000,txn_failure:0
,txn_count:15438, txn_: success-15438 txn_failure:0
time:2,txn_count:7566,txn_success:7566,txn_failure:0
time:1,txn_count:5424,txn_success:5424,txn_failure:0
time:3, txn count: 11145 txn success'lllds txn failure:0
time:1,txn_count:12175,txn_success:12175,txn_failure:0
time:2,txn_count:6158,txn_success:6158,txn_failure:0
,txn_count:8950,txn_success:8950,txn_failure:0
txn_ count 2979,txn_success:2979, txn_: failure-o

539 txn_: fa11ure'0

tlme'l txn count:467,txn ! success:467, txn_: failure:0
(txn_count:3197,txn_: success°3197 txn_failure:0
txn_count:3606 txn_success*SGOE txn_fallure°0
,txn_count:7649,txn_success:7649,txn_failure:0
,txn_count:7531,txn_success:7531,txn_failure:0

566,txn_failure:0

,txnicuunt 9566, txniaucces
tlme'l txn_count:7790,txn success:7790,txn_failure:0
,txn_count: 10969 txn_success: 10969 txn_failure:0

,txn_count:10660, txn suc:ess-lOﬁGU txn_failure:0
time:3, txn count:11784,txn : _success:11784, txn failure:0
time:3,txn_count:20000,txn_: _success:20000, txn_failure:0
time:2 txn#count 16953, txn success'16953 txn failure:0

(txn_count:12693,txn success:12693,txn_failure:0
tlme'z txn_count:8164,txn_: success°8164 txn_: failure:0

,txn count:3747, txn success: 3747, txn_: _failure:0

,txn_count:3150,txn_success:3150,txn_failure:0
time:1,txn count:4453,txn_success:4453,txn_failure:0
time:1,txn_count:6175,txn_success:6175,txn_failure:0
tlme'l txn_count:7890,txn success:7890,txn_failure:0

,txn_count:6257,txn_success:6257,txn_failure:0

(txn_count:8023 txn_suucess*BGZJ txn_fallure-o

,txn _count:5973,txn_success:5973,txn_failure:0
,txn_count:6022,txn_success:6022,txn_failure:0
time:1,txn_count:4372,txn success:4372,txn_failure:0
time:1,txn_count:4273,txn_success:4273,txn_failure:0
tlme'l txn_count:7367,txn_success:7367,txn_failure:0
,txn count:6972, txn success: 6972, txn_: _failure:0
time:2,txn_count:8595,txn_success:8595,txn_failure:0
time:1,txn count:8476,txn_success:8476,txn_failure:0
time:1,txn_count:3713,txn_success:3713,txn_failure:0
tlme'l txn count:4955, txn success:4955, txn failure:0
,tXn_count:2656,txn_success:2656,txn_failure:0
(txn_count:5775 txn_suucess°5775 txn_fallure-o
,txn_count:3702,txn_success:3702,txn_failure:0

,txn_count:2915,txn_success:2915,txn_failure:0
tlme'l txn count:5759,txn_: _success:5759, txn_: _failure:0
time:2,txn_count: 12005 ,txn_success: 12005 txn_fallure:O
time:2,txn_count:15419,txn success:15419,txn_ failure:0
time:2,txn_count:13083,txn_success:13083,txn_failure:0
time:2,txn_count:8299,txn_success:8299,txn_failure:0
time:1,txn count:7269,txn_success:7269,txn_failure:0
time:1,txn_count:140,txn_success:140,txn_failure:0
time:6,txn_count:20000,txn success:20000,txn failure:0
time:2,txn_count:13890,txn_success:13890,txn failure:0
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e, PoerSafe.
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Memary Basic twork hans 38ge par second Al

1.3 &R

M 33, 34, 35 3KAF, 10 17 S 4H4%E POP 5535 T RY payment %11 100 J1 %32 5 SHiH A TPS
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2. InsertMent FBHI&
2.1 BAfligt

= BITHRIRE iR

Insertment 3% 1 100 M PR IR R Shis AT 10000 ¥k | 3K45 TPS, i | 1t [a]

2.2 MiLLER

root@iz0jl0bBucbbmdaétpg55aZi:~/testChainsgl# sh rumimeter.sh
Creating summariser <summary>
eated the tree successfully using testChainsgl.jmx
ing standalone test € Tue Apr 27 20:24:38 CST 2021 (16195262789135)
Wwaiting for possible Shutdown/StopTes HnwfieapfumptTthadUUﬁp message on
+ 159550 100t 7 .0/ : 0 M F (0.00%) Active: Started: Finished: ¢
210712 ] 3 H B 0 M 3 2 (0.00%) ive: 1 Started: ) Finished:
370262 i ] = .9/8 2 Mi 0 Max: ErT: 00%)
190842 i C 6 . Vgt 5 : Max: 72 E .00%) e: 100 Started: 100 Finished:
561104 <4/s E 3 1z 0 Max: 3 Errs: 00%)
205909 ] .9/8 Avg: Max: 339 z 00%) ive: 100 Started: 100 Finished:
767013 ) 6 r Mi 0 t 372 E 00%)
74262 i . rg » Max: .00%) : 100 Started: 100 Finished:
941275 D 21 = «2/8 3 0 Max: 56 00%)
58725 in 548.5/s8 2 : lax - {0.00%) Active: 0 Started: 100 Finished
= 1000000 in DO = . g: in: 3 1 3 0 (0.00%)
€ Tue Apr 27 CST 2021 (1619526432633)

rooPix~()13b8uohbm~a&tpq5‘na /testChainsgl# sh calcul_ledger.sh
ledger time total = 177
txn_count = 1000000
txn_success = 1000000
ilure = 0
' EKZBATPS = 5649.71/8
root#iZ0j10bBucbbmiabtpg55aZ:~/testChainsgl# .
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e, PeerSafe.

p] azZ: es ainsq ]
2021 8:24: PM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.177:6006
connect success
index:146,ledger time:0,txn_count:744,txn_success:744,txn_failure:0
index:147, ledger T £Xn_coun 0000,txn_success:20000,txn_failure:0
index:148, ledger 3,txn_coun 0000,txn succes 0000,txn failure:0
index:149, ledger :4,txn_count:20000,txn_success:20000,txn_failure:0
:3,txn_coun 0000, txn_succes: 0000,txn_failure:0
:5,txn_coun 0000,txn_succes 0000,txn_failure:0
:4,txn_count:20000,txn_succe 20000, txn_failure:
4,txn_coun 0000,txn_succes 0000,txn_failure:
5,txn_coun 0000,txn_succes 0000,txn_failure:
:3,txn_count:20000,txn_success:20000,txn_failure:

EERZ SR BRAE

index:152, ledger
index:153, ledger
inde 54, ledger
r index:155, ledger

56,ledger
57,ledger
58, ledger
59, ledger
60, ledger
index:161, ledger
62, ledger
63, ledger
index:164,ledger
65, ledger
66, ledger
index:167, ledger
68, ledger
69,ledger
70,ledger
71, ledger
72,ledger
73, ledger
74, ledger
75, ledger
76, ledger
inde: 77,ledger

GOGD,txnjsucces
0000, txn_succes
0000, txn_succes
0000,txn_succes
0000, txn_succes
0000, txn_succes
0000,txn_succes
0000, tx

0000,txn succes
0000, txn_succes
0000,txn_succes
0000,txn_succes
0000, txn_succes
0000,txn_succes
0000, txn succes

0000,txn_failur

0000,txn_failure:0

:20000,txn_failure:

0000,txn failure:
0000,txn_failure:

0000, txn_

0000,txn_failure:

120000, txn_failure:

0000,txn_failure:0

OGOD,:xn_fa1Lure.
0000,txn_failure:
20000,txn_failure:
0000,txn_failure:

index:178, ledger
79, ledger
80, ledger

index:181, ledger t

:4,txn_count:20000,txn_success:20000,txn_failure:
3,txn_coun 0000,txn_succes 0000,txn_failure:
3,txn_coun 0000,txn succes 0000,txn failure:
:3,txn count:20000,txn success:20000,txn failure:
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e, PeerSafe.

EERZ SR BRAE

7= BTHRIRE iR

Payment 11 100 ™ H P& IR A Shiz 4T 10000 IR RIS TPS, Wi i [F]

1.2 WiHER

root@i20j10bBuobbm4abtpg55aZ:-/testChainsgl# sh rumImeter.sh
reating summariser <summary>
2 tree successfully using testChai 1 X
[Starting standalone test @ Tue Apr 27 20:42:29 CST 2021 (1619527349877)
jaiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
1i : 1= 0.7/s Avg 6 X Err: .00%) Active: 100 S
i 5704.7/8 Avg 2 % .00%) Active: 100

161764 : i 0 )
164093 i H = ] 1 Err: .00%) Active: 100 Started:
325857 0 E
159056 ) ] 7 11 1254 Err: .00%) Active: 100 Started:
484913 0 . : x: 1254 0
162339 ) : i 1220 ]
647252 .6/ X 1254 Err 0
i 0
0

Active: 100 Started: 100 Finished:

5791.6/ i 2 1379 .00%) Active: 100 Starte 00 Finished
5483. 1379 .00%)
5606.5/s 7 fin: b 690 Err: 57416 (34.25%) Active: 100 Started: 100 Fi hed:
5503 4 H : 1379 Err: 57416
4689 { 0 & 163 Err: 10786 ( 00%) Active: 0 Started: 100 Finished:
1000000 in 00:03:02 = 5493.4/s A 13 Min: 1379 Err: 68202 (6.82%
€ Tue Apr 27 20:45:32 C 2021 (1619527532300)

root@iZ0j10bBuobbm4abtpg55aZ:~/testChainsgl# sh calcul ledger.sh
ledger time total = 168
txn_count = 931798
= 931798
n =0
BHEKRBOITPS = 5546.41/s
root@i20j10bBuobbm4aétpg55aZ:~/testChains
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/'\'- PeerSaofe.

root@iZ20j10bBuobbmdabtpq55aZ:~/testChainagl# sh testSubLedger.sh
BRpr 27, 2021 £:42:15 PM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.177:6006
connect success
index:55, ledger time:0,txn_count:16745,txn_success:16745,txn_failure:0
index:56, ledger time:J,txn_count:19318,txn_success:19318,txn_failure:0
index:57,ledger time:3,txn count:17315,txn _success:17315,txn failure:0
index:58,ledger time:3,txn_count:16559,txn_success:16559,txn_failure:l
index:59, ledger ti 3,txn count:l16434,txn ocess: 16434 ,txn failure:0
index: 60, ledger ti txn_count:16417,txn success:16417,txn_failure:0
index:61,ledger (txn count:11609,txn success:11609,txn failure:0
index:62,ledger (t¥n_count:20000,txn_success:20000,txn_ failure:0
:63,ledger time:3 txn count:17623,txn_success:17623,txn_failure:0
x:64,ledger ti (txn_count:14603,txn_success:14603, _failure:0
65,ledger time:3,txn count:17498,txn_success:17498,txn_failure:0
66, ledger 3,txn_count:15852,txn_success:15852,txn_failure:0
index:67,ledger time:3,txn count:1412 xn_success:14127,txn_failure:0
index:68, ledger time:3,txn count:1450 %xn_success:14507,txn failure:0
69, ledger tim txn_count:20000,txn success:20000,txn_ failure:0
70,ledger time:3,txn count:15521,txn success:1552]1,txn_failure:0
71, ledger me:d, tyn_count:18937,txn_ succesa:18937,tun failure:0
72, ledger ¢3,txn_count:16105,txn_success:16105,txn_failure:0
(txn_count:18750,txn_success:18750, ailure:0
time:3,txn_count:18715,txn_success:18715,txn_failure:0
ftxn_count:14877,txn_success:14877,txn_failure:0
(txn count:20000,txn_success:20000,txn ilure:0
index: aer time:3,txn count:14624,txn success:14624, failure:0
index:78, ledger tim (txn count:12186,txn success:12186, n failure:0
79, ledger ti (txn_count:15923,txn_success:15923,txn_failure:0
rledger tim (tun_count:17194,txn_succesa:17194,txn_failure:0
81, ledger :4,txn count:15095,txn_success:15095,txn_failure:0
82 ,ledger :3,txn_count:20000,txn_success:20000,
,ledger ti (txn_count:16802,txn_success:16802,
(txn_count:11675,txn_success:11675,txn_failure:0
85,ledger time:l,txn_ count:8248,txn_success:8248,txn_failure:0
186, ledger time:3,txn_ count:10890,txn_success:10890,txn_failure:l
(ledger tim +txn count:1675¢ xn success:16755,txn failure:0
88, ledger tim (txn_count:16760,txn_success:16760,txn_failure:0
rledger tim (tun_count:17945,txn_succesa:17945,txn_failure:0
:90,ledger e:3,tyn count:12831,txn success:1283]1,txn failure:0
:91,ledger e:3,txn_count:11608,txn_success:11608, ailure:0
2,ledger tim (txn_count:16650,txn_success:16650,txn_failure:0
3,ledger ti (txn_count:20000,txn_success:20000,txn_failure:0
94 ,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
195, ledger failure:0
96 , ledger t n_failure:0
rledger n failure:0
98 ,ledger time:3,txn_count:20000,txn_success:20000, _failure:0
index:99,ledger time:4,txn count:20000,txn_success:20000,txn_£failure:0
index:100,ledger T 120000,txn_failure:0
index:101,ledger T Xn_i 0000, txn_succes 000,txn_failure:0
index:102, ledger T XN _ 120000, txn_success:
index:103, ledger T 0000,txn_success:20000,txn_failure:0
index:104, ledger 13,txn count:20000,txn success:20000,txn failure:0
index: 105, ledger 12,txn_count:20000,txn_succes re:0
index:106, ledger 2:3,txn count:20000,txn success:20000,txn failure:0
index:107, ledger 3,txn_coun 9287,txn_success:19287,txn_failure:0
index:108, ledger :3,txn_count:14698,txn success:14698,txn failure:0
index:109,ledger :2,t¥n count:11115,t¥n success:11115,txn failure:0
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2. InsertMent BHILZT

2.1 Afhgit

= BETERIZE MW=

Insertment % 1 100 ™ H PR 3£ A2 iz 4T 10000 IR FA5 TPS, Wi . Hsf [A]

2.2 MiKER

Created the tree successfully using testChainsgl.jmx
Starting standalone test @ Tue Apr 27 19:39:10 CST 2021 (1619523550293)
for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
107039 in 00:00:19 = 5536.0/s CE Min: 0 Max: 219 Err: & Active: 0 Started: 100 Finished:
164149 in 00:00 5468.4/s8 H Min: 0 Max: 291 Err: 0 . Active: 100 Started: 100 Finished:
271188 in 00:00 .6/8 6 Min: Max: 291 Err:
164568 in 00:00: .3/8 Av 10 Min: D Max: 243 Err: .00%) Active: )0 Started: 0 Finished:
435756 in 00:01: .6/8 z Min: Max: 291 Err:
164123 in 00:00: ).B/s : 11 Min: Max: 290 Err: . Active: 100 Started: Finished:
in 00:01: -6/8 t Min: Max: 291 Err:
6 in 00 .5/8 Avg: 14 Min: Max: 318 Err: . Active: 100 Started: Finished:
766125 in 00 $ 5498.4/s £ Nin: Max: 318 Err: 0
163752 in 00 t 3. H Min: Max: 552 Errx: . Active: 100 Started: 0 Finished:
929877 in 00:02: / & rg: Min: Max: 552 Errx:
70123 in 00 7.9/ Vgt 14 Min: Max: 300 Errx: Active: 0 Started: 100 Finished:
= 1000000 in 00: 73.5/s8 : 11 Min: 0 Max: 552 Exr: 3
Uup ... € Tue Apr 27 19:4 CST 2021 (1619523733362)
of run
root@iz0jl0bBuobbmdaétpgS5az:~/testChainsql# sh calcul_ledger.sh
ledger time total = 185
txn_count 00000
txn_success lOOLODG
txn_failu
#a?"‘%‘ix%hfrps = 5405.40/8
root@iZ0j10bBuobbmiabtpg55aZ:~/testChainsgl#

o+ o+

+
+
+
+

+
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Apr 27, :38: peersafe.base.client.C
INFO: Connecting to ws://172.16.144.177:6006
connect success
r index:55,ledger time:0,txn count:12986,txn success:l
index:56,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
index:57,ledger time: xn_count:17773,txn_success:17773,txn_failure:0
index:58,ledger time:3,txn cou 16898, txn success:16898,txn failure:0
index:59,ledger time:3,txn_count:15717,txn_success 717,txn_failure:0
index:60,ledger time:3,txn count:17558,txn_success 558,txn failure:0
index:61,ledger time:3,txn count:15535,txn success:15535,txn failure:0
index:62,ledger time:3,txn_count:16939,txn_success 939,txn_failure:0
index:63, ledger time: |_count:15685,txn_success:15685,txn_failure:0
index:64,ledger time: Xn_cou 17386, txn_success 3B86,txn_failure:0
index:65,ledger time:3,txn_count:16256,txn_success:16256,txn_failure:0
index:66, ledger :3,txn_count:16553,txn_success:16553,txn_failure:0
index:67,ledger time:3,txn_count:16085,txn_success 085, txn_failure:0
index:68, ledger 13,txn_count:15872,txn_success:15872,txn_failure:0
index:69,ledger ti :3,txn_count:17444,txn_success 444 ,txn_ failure:0
index:70,ledger :3,txn_count:16230, txn_success:16230,txn_failure:0
index:71,ledger time:3,txn count:16267,txn_success:16267,txn_failure:0
index:72,ledger ti :3,txn_count:16047,txn success:16047,txn failure:0
index:73,ledger +13,txn_count:16992,txn_success:16992,txn_failure:0
index:74,ledger ti :13,txn_count:13679, txn_success 679,txn_failure:0
index:75, ledger :3,txn _count:18439,txn success:18439,txn failure:0
index:76,ledger t3,txn_count:15645,txn_success 645,txn_failure:0
index:77,ledger time:4,txn count:20000,txn success:20000,txn failure:0
index:78, ladger me:3 . txn count:18541,txn success 541,txn failure:0
index:79, ledger +13,txn_count:16946,txn_success 946,txn_failure:0
index:80, ledger me:3,txn count:17966,txn success:17966,txn failure:0
index:81,ledger time:3, txn_count:15935,txn_success 935,txn_failure:0
index:82,ledger 13,txn_count:18264,txn_success:18264,txn_failure:0
index:83, ledger ti 13t count:14858,txn su 858,txn failure:0
index:84, ledger :3,txn_count:16467,txn E 467,txn_failure:0
index:85,ledger time:3,txn_count:16416,txn_success:16416,txn_failure:0
r index:86,ledger time:3,txn count:13474,txn success 474,txn failure:0
index:87,ledger time:3,txn_count:17476,txn_success:17476,txn_failure:0
index:88,ledger time:3,txn count:18642,txn_success 642,txn_failure:0
index:89,ledger time:4,txn count:19101,txn_ success 101,txn failure:0
index:90,ledger time:3,txn_count:15876,txn_success 876,txn_failure:0
index:91,ledger time:4,txn count:20000,txn success:20000,txn failure:0
index:92, ledger time:3,txn count:20000,txn success:20000,txn failure:0
index:93,ledger time:4,txn_count:19152,txn_success 152,txn_failure:0
:94,ledger time: ,_count:18765, txn_success 765,txn_failure:0
:195,ledger time: xn_count:18984,txn_success:18984,txn_failure:0
196,ledger time:5,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn count:20000,txn success:20000,txn_ failure:0
:98,ledger time:4,txn_count:20000,txn_success:20000,txn_failure:0
199,ledger time:3,txn_count:20000,txn_success:20000,txn_failure:0
:100, ledg me:4,txn_count:18022,txn_succes 8022,txn_failure:0
:101, ledg , 5,txn_count:20000,txn_succe 0000,txn_failure:0
:1102,ledger time:3,txn_count:20000,txn_ success:20000,txn failure:0
:103.ledger time:2,txn count:20000.txn success:20000.txn failure:0
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ME 42, 43, 44 ZERATFEH, 10 55 hotstuff B¥ET Insertment 3 1 100 JTER 5L RH
TPS K 5405.4/s , G IEPEIEA 3s 224, F5 R SR ARRBUER .

6.1.5 20 ™M m
(1) POP &%

1. Payment 3§

1.1 gt

7= BTHRIRE Wi R

Payment %11 100 N PR IR AL Z 384T 10000 K | #5545 TPS, 0 K 1 [a]

1.2 ML R

root@i20j12gwsmurdcByz5x9aez:~/testChainsql# sh rumimeter.sh
reating summariser <summary>
reated the tree successfully using testChainsgl.jmx
Sta;t;ng standalone test @ Thu Apr 29 15:50:57 CST 2021 (1619682657224)
for possxble SﬁltduhntStuDTestHuw/HEapDump/IhreadDump message on
8836 3102 3711. [ 1 3 (0.00%) Active: Started: 50 Finished:
104937 i 3497. i (0.00%) Active: Started: 50 Finished:
113773 (0.00%)
105068 (0.00%) Active: Started: 50 Finished:
218841 (0.00%)
104854 (0.00%) Active: 50 Started: 50 Finished:
323695 (0.00%)
105324 (0.00%) Active: tarted: 50 Finished:
429019 { 0%)
105155 (0.00%) Active: Started: Finished:
534174 (0.00%)
104909 (0.00%) Active: Started: Finished:
639083 (0.00%)
104728 (0.00%) Active: 50 Started: Finished:
743811 in (0.00%)
05228 in (0.00%) Active: 50 Started: Finished:
849039 in (0.00%)
105399 in (0.00%) Active: 50 Started: 50 Finished:
954438 in (0.00%)
1n Max (0.00%) Active: 0 Started: 50 Finished:
00%)

WELWEWELLWLWELWLLLWLW

& W

44 CST 7021 (1619682944018)

Lthﬁl"O]lZgw:\mu'9c8y2:x9aez /testChainsql# sh calcul_ledger.sh
dger time total = 284
1000041
o s = 1000041
txn failure = 0
ME3Z 5B TPS = 3521.27/s
root@iZ0jl2gwSmurdcB8yz5x9aeZ :~/testChainsgl# l
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Memory Basic Network bandwidth usage per second All

15.15¢

1615GiI8  15.15GiB

System Load Disk R/W Data Disk Space Used% Basl

= vdb_Written byte

vdb_Writien byte:

1.3 &R

MIE 45, 46 Fa]FH, 20 DT EHSER POP 2% F 100 774 payment 325 LR TPS K
3521.27/s , I AERIEEEHIER.

3. InsertMent BBH&t

2.1 Afhgit

7= BTHRIRE iR

Insertment 3% 1 100 N H PR IER FyizdT 10000 ¥R RIS TPS, Wi I [F]

2.2 MiXER

rumimeter.s
reating summarie.
reated the tree successfully using testChainsgl.jmx
Starting standalone test € Thu Apr 29 15:31:00 CST 2021 (1619681460851)
for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
+ 1 in 00:00:01 0.9/ Avg: 31 Min: 31 Max: 31
115815 in 0 Max 251
115816 in Max: 251
120661 in 00:00:30 Max 176
236477 in 00:00:59 4022.9/8 Max 251
119350 in 3 3978.5/8 Max: 223
355827 in 9 4007.9/s Ma: 251
in 986 .9/
in 4002.6
in 4017.6/s
in 4
in
in
119957 in
834981 in (0.00%)
121129 in (0.00%) Active: Star 50 Finished: 0
956110 in = 7 (0.00%)
43890 in 2 = 3708.8 4 Mi ) (0.00%) Active: 0 Started: 50 Finished:
1000000 in O .2/ i 0 Max: (0.00%)
: C 1711834)

(0.00%) 50 Finished:
0 Finished

N

inished

Active: 5 Finishe
Active: 5 e Finished
i) Active: Finished:
00%)
(0.00%) Actiw

(0.00%
(0.00%) Active: 50

ccooooo0O0OOCOO

L+ 0+ 0+ 0+ 0+
QRNAOUULAWWWWN

-/testChainsql# sh calcul_ledger.sh

total = 254
1000000
1000000
= 0
5 0 & 0K 32 8 19 TPS 3937.00/
froot@1z0312gwSmur9c8yz5x9aez: ~/testChainsql# il
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root@1iZ0j12gwSmur9c8yz5x9aeZ:~/testChainsql# sh testSubLedger.sh
Ppr 29, 2021 3:30:29 PM com.peersafe.base.client.Client log
[INFO: Connecting to ws://172.16.144.205:6006

onnect success

index:12,ledger
index:13, ledger
index:14,ledger
index:15,ledger
index:16,ledger
index:17, ledger
index:18,ledger
index:19, ledger
index:20,ledger
index:21,ledger
index:22,ledger
index:23, ledger
index:24,ledger
index:25, ledger
index:26, ledger
index:27,ledger
index:28,ledger
index:29,ledger
index:30,ledger
index:31, ledger
index:32, ledger
index:33,ledger
index:34,ledger
index:35, ledger
index:36,ledger
index:37,ledger
index:38,ledger
index:39,ledger
index:40,ledger
index:41,ledger
index:42,ledger
index:43, ledger
index:44,ledger
index: 45, ledger
index:46,ledger
index:47,ledger
index:48,ledger
index:49,ledger
index:50, ledger
index:51,ledger
index:52, ledger
index:53, ledger
index:54, ledger
index:55,ledger
index:56,ledger
index:57,ledger
index:58, ledger
index:59, ledger
index:60,ledger
index:61,ledger
index:62, ledger
index:63, ledger
index:64,ledger
index:65, ledger
index:66, ledger
index:67,ledger
index:68, ledger
index:69,ledger
index:70,ledger
index:71,ledger
index:72,ledger
index:73,ledger
index:74,ledger
index:75,ledger
index:76,ledger
index:77,ledger
index:78,ledger
index:79,ledger
index:80, ledger
index:81, ledger
index:82, ledger
index:83,ledger
index:84,ledger
index:85, ledger
index:86,ledger
index:87,ledger
index:88, ledger
index:89, ledger
index:90, ledger
index:91, ledger
index:92, ledger
index:93, ledger
index:94,ledger

time:0,txn_count:

141,txn_success:141,txn_failure:0

time:3,txn_count:16660,txn success:16660,txn_failure:0

time:3,txn_count:
time:2,txn_count:
time:3,txn_count:
time:1,txn_count:
time:1,txn_count:
time:1,txn_count:
time:2,txn_count:
time:3,txn_count:
time:3,txn_count:
time:1, txn_count:
time:3,txn_count:
time:1,txn_count:
time:3,txn_count:
time:1,txn_count:
time:1,txn_count:
time:2,txn_count:
time:1,txn_count:

12099, txn_success:12099,txn_ failur
8197,txn_success:8197,txn failure:0
11607,txn_success:11607,txn failure
6413,txn success:6413,txn_failure:0
4730, txn_succes 730,txn_failure:0
4114,txn_succes 114,txn_failure:0
4852,txn_success:4852,txn_failure:0
11964, txn_success:11964,txn failure
12104, txn_success:12104,txn_failur
5960,txn_success:5960,txn_failure:0
10510,txn_success:10510,txn_failure
6691,txn_succes 691,txn_failure:0
9129,txn_succes 129,txn_failure:0
5891, txn_succes 891,txn_failure:0
5446,txn_success:5446,txn failure:0
5356,txn_succes 356,txn_failure:0
4022,txn_succes 022,txn_failure:0

time:1,txn_count:3814,txn_succes
time:1,txn_count:6455,txn_succes
time:2,txn_count:4901,txn_succes
time:1,txn_count:3671,txn_succes
time:1,txn_count:6218,txn success:

:4901,txn_failure

814,txn_failure:
455,txn_failure:

671,txn_failure:
218,txn_failure:

0
0
:0
]
0

time:1,txn_count:5943,txn_success:5943,txn_failure:0
time:3,txn_count:14063,txn success:14063,txn_ failure:0
time:3,txn_count:8965,txn success:8965,txn failure:0
time:2,txn_count:6486,txn success:6486,txn_ failure:0
time:2,txn count:7534,txn success:7534,txn_failure:0
time:2,txn count:9153,txn success:9153,txn_failure:0

time:3,txn_count:12285,txn_success
time:3,txn_count:11487,txn success
time:2,txn_count:10207,txn_success

:12285,txn_failur
:11487,txn_failur
210207 ,txn_failur

time:3,txn_count:9361,txn_success:9361,txn_failure:0
time:3,txn_count:14078,txn_success:14078,txn_failure:0
time:3,txn count:9773,txn_success:9773,txn_failure:0
time:2,txn_count:9710,txn success:9710,txn failure:0
time:2,txn_count:6205,txn_success:6205,txn_failure:0
time:2,txn_count:6952,txn success:6952,txn_failure:0
time:1l,txn_count:6007,txn success:6007,txn_failure:0

time:2,txn_count:8730,txn_succes

730,txn_failure:

0

time:2,txn_count:7350,txn_success:7350,txn_failure:0

time:2,txn_count:20000,txn_success
time:6,txn_count:14872,txn_success
time:4,txn_count:11683,txn_success
time:3,txn_count:12356,txn_success
time:4,txn _count:14184,txn success
time:3,txn_count:12677,txn_success
time:3,txn count:11176,txn_success
time:2,txn_count:11185,txn_success
time:2,txn_count:15700,txn_success
time:5,txn_count:12979,txn_success
time:4,txn_count:13073, txn_success
time:3,txn_count:14228,txn_success
time:4,txn_count:13000,txn_success
time:3,txn count:12113,txn_success
time:3,txn_count:12336,txn_success
time:3,txn count:14664,txn_success
time:3,txn_count:11517,txn_ success
time:5,txn_count:17572,txn success
time:6,txn_count:20000,txn_ success
time:3,txn_count:12483,txn_success

time:5,txn_count:20000,txn success
time:4,txn_count:20000,txn_ success
time:7,txn _count:20000,txn_success
time:7,txn_count:20000,txn success
time:4,txn_count:20000,txn_success

time:6,txn_count:20000,txn_success:
time:4,txn_count:20000,txn_success:

time:4,txn_count:20000,txn_success
time:5,txn_count:20000,txn_success
time:4,txn_count:20000,txn_success
time:4,txn_count:20000,txn success
time:5,txn_count:18881,txn success
time:6,txn_count:20000,txn_success
time:5,txn_count:20000,txn_success
time:5,txn_count:20000,txn_success
time:6,txn_count:20000,txn_success
time:4,txn_count:20000, txn_success

:20000,txn_failur
:14872,txn_failur

HY

H

:0

:0

:11683,txn_failure:0
:112356,txn_failure:0
:14184,txn_failure:0
:12677,txn_failure:0

:11176,txn_failur
:11185,txn_failur
:15700,txn_failur
112979 ,txn_failur
:13073,txn_failur
:14228,txn_failur
:13000,txn_failur

:12113,txn_failure:0
:12336,txn_failure:0

:14664,txn_failur
:11517,txn_failur
:17572,txn_failur

:20000,txn_failure:0
:12483,txn_failure:0
time:2,txn_count:7824,txn_success:7824,txn_failure:0
time:5,txn_count:20000,txn_ success:20000,txn_failure:0

:20000,txn_failur
:20000,txn_failur
:20000,txn_failur
:20000,txn failur

:ZOOOO,txn:failure:D

20000, txn_failur
20000, txn_failur
:20000,txn_failur

:20000,txn_failure:0
:120000,txn_failure:0
:20000,txn_failure:0
:18881,txn_failure:0
:20000,txn_failure:0

:20000,txn_failur
:20000,txn_failur
:20000,txn_failur
:20000,txn_failur

time:5,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:263,txn_success:263,txn_failure:0

o0ot@iZ0i1l2qwSmur9c8yz5x9ae: ~/testChainsal# Ml
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/'\'- PeerSaofe.

root€iz0jl2gwSmur9cB8yz5x9aeZ:~/testChainsql# sh rumimeter.sh
Creating summariser <summary:
Created the tree successfully using testChainsgl.jmx
Starting standalone test @ Thu Apr 29 16:06:32 CST 2021 (1619683592764)

for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on

1 0:01 .1/s Avg: 21 Mi 21 H 21 H .00%) Active: 45 Started: Finished:

94548 1 : : .3/s 532 .00%) Active: 50 Started: Finished:
94549 3 .9/s 532 ) .00%)
104801 4 3 4/8 628 .00%) Active: 50 Started: Finished:
199350 8/s 628 i 00%)
105131 4/s 746 Err: 00%) Active: 50 Started: Finished:
304481 1 6 746 1 -00%)
103685 783 H .00%) Active: 50 Started: Finished: 0
408166 783 E .00%)
106745 892 .00%) Active: 50 Started: Finished: 0
514911 892 E (0.00%)
105207 933 H .00%) Active: 50 Started: 50 Finished: 0
620118 i .5/8 933 Errx: .00%)
105153 4 200z 505.1/s 914 ) .00%) Active: 50 Started: 50 nished: 0
725271 i £ - .3/s 9133 H .00%)
105280 i ] -3/s 835 ) .00%) Active: 50 Started: S50 Finished: 0
830551 i 6.7/8 Avg: 933 : .008)
105540 i .0/s8 Avg: 761 .00%) Active: 50 Started: 50 Finished: 0
936091 4:27 8.0/s Avg: 933 H ) .00%)
63909 4/s Avg: 3 980 E (0.00%) Active: 0 Started: 50 Finished: 50
1000000 in 00:04:47 = 3486.9/s Avg: 980 Err: ) (0.00%)

Up ... € Thu Apr 29 16:11:19 CST 2021 (1619683879938)

of run
root@i20jl2gwSmur9cByz5x9aeZ:~/testChainsql# sh calcul ledger.sh
ledger time total = 287
txn_count = 1000000
txn_success = 1000000
txn_failure = 0
R MR N TPS = 3484.32/s
oot @ 5 _

EERZ SR BRAE

IS

+ 0+ 0+ +
'S

+ I

+
+
G

]
NOANON AU G NG U

w o

0+ N+
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22, PeerSafe.

EERZ SR BRAE

€ Jlzgw Y ql# es g
Apr 29, 2021 4:06:13 PM com.peersafe.base.client.Client log

onnect success

index:9,ledger time:0,txn_count:2377,txn_success:2377,txn_ failure:0

index:10,ledger
index:11,ledger
index:12,ledger
index:13, ledger
index:14,ledger
index:15, ledger
index:16, ledger
index:17,ledger
index:18,ledger
index:19, ledger
index:20,ledger
index:21,ledger
index:22, ledger
index:23,ledger
index:24, ledger
index:25,ledger
index:26,ledger
index:27,ledger
index:28,ledger
index:29, ledger
index:30,ledger
index:31,ledger
index:32,ledger
index:33,ledger
index:34, ledger
index:35,ledger
index:36,ledger
index:37,ledger
index:38,ledger
index:39, ledger
index:40,ledger
index:41, ledger
index:42,ledger
index:43,ledger
index:44,ledger
index:45,ledger
index:46,ledger
index:47,ledger
index:48,ledger
index:49, ledger
index:50, ledger
index:51,ledger
index:52, ledger
index:53, ledger
index:54,ledger
index:55, ledger
index:56, ledger
index:57, ledger
index:58, ledger
index:59, ledger
index:60, ledger
index:61,ledger
index:62,ledger
index:63,ledger
index:64,ledger
index:65,ledger
index:66,ledger
index:67,ledger
index:68,ledger
index:69,ledger
index:70,ledger
index:71,ledger
index:72,ledger

time:3,txn count:13199,txn success:13199,txn_failure:0
time:3,txn_count:10918,txn_success:10918,txn_failure:0
time:3,txn_count:10249,txn success:10249,txn_failure:0
time:3,txn count:10767,txn_success:10767,txn_ failure:0
time:3,txn_count:10344,txn_success:10344,txn_failure:0
time:3,txn count:10212,txn success:10212,txn failure:0
time:3,txn_count:10305,txn_success:10305,txn_failure:0
time:3,txn_count:11063,txn_success:11063,txn_failure:0
time:3,txn count:9965,txn success:9965,txn failure:0

time:3,txn_count:10853,txn success:10853,txn_failure:0
time:3,txn count:10332,txn success:10332,txn failure:0
time:3,txn_count:9756,txn_success:9756,txn_failure:0

time:3,txn count:11494,txn success:11494,txn_failure:0
time:3,txn_count:9869,txn_success:9869,txn_ failure:0

time:3,txn_count:10416,txn_success:10416,txn_failure:0
time:3,txn count:10856,txn success:10856,txn failure:0
time:3,txn_count:11007,txn_success:11007,txn_failure:0
time:3,txn_count:10288,txn_success:10288,txn_failure:0
time:3,txn_count:10303,txn_success:10303,txn_failure:0
time:3,txn_count:11010,txn_success:11010,txn_failure:0
time:3,txn count:10015,txn success:10015,txn failure:0
time:3,txn_count:10698,txn_success:10698,txn_failure:0
time:3,txn_count:10094,txn_success:10094,txn_ failure:0
time:3,txn_count:10100,txn success:10100,txn_failure:0
time:3,txn_count:9460,txn_success:9460,txn_failure:0

time:3,txn_count:12312,txn success:12312,txn_failure:0
time:3,txn_count:7926,txn_success:7926,txn_failure:0

time:3,txn_count:13345,txn success:13345,txn_failure:0
time:3,txn_count:9814,txn_success:9814,txn_ failure:0

time:3,txn_count:11345,txn_success:11345,txn_failure:0
time:3,txn_count:8056,txn_success:8056,txn_failure:0

time:3,txn_count:10684,txn success:10684,txn_ failure:0
time:3,txn_count:10639,txn success:10639,txn failure:0
time:3,txn_count:13595,txn_success:13595,txn_failure:0
time:3,txn_count:8985,txn_success:8985,txn_ failure:0

time:1,txn_count:3132,txn_success:3132,txn_failure:0

time:3,txn_count:10734,txn_success:10734,txn_failure:0
time:3,txn_count:10473,txn success:10473,txn_ failure:0
time:3,txn _count:10023,txn_success:10023,txn_ failure:0
time:3,txn_count:10727,txn_success:10727,txn_failure:0
time:3,txn count:10480,txn success:10480,txn_failure:0
time:3,txn count:10968,txn success:10968,txn_failure:0
time:3,txn_count:10043,txn_success:10043,txn_failure:0
time:3,txn count:8542,txn_ success:8542,txn failure:0

time:3,txn count:10900,txn success:10900,txn_failure:0
time:3,txn count:12730,txn success:12730,txn_failure:0
time:3,txn_count:10742,txn_success:10742,txn_failure:0
time:3,txn_count:10425,txn success:10425,txn failure:0
time:3,txn_count:10677,txn_success:10677,txn_failure:0
time:3,txn_count:9900,txn_success:9900,txn_failure:0

time:3,txn count:11321,txn success:11321,txn failure:0
time:3,txn _count:9831,txn_ success:9831,txn failure:0

time:3,txn_count:8342,txn_success:8342,txn_ failure:0

time:3,txn_count:13370,txn_success:13370,txn_failure:0
time:2,txn count:4309,txn_success:4309,txn failure:0

time:3,txn count:12817,txn success:12817,txn failure:0
time:3,txn_count:10695,txn_success:10695,txn_failure:0
time:3,txn_count:10200,txn_success:10200,txn_failure:0
time:1,txn_count:2928,txn_success:2928,txn_failure:0

time:3,txn_count:8451,txn_success:8451,txn_failure:0

time:3,txn count:13128,txn success:13128,txn failure:0
time:3,txn_count:10793,txn_success:10793,txn_failure:0
time:3,txn_count:10569,txn_success:10569,txn_failure:0
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®, PcerSafe.

/batch-SSH# cd ../testChainsqgl/
/testChainsqgl# sh rumJmeter.sh

EERZ SR BRAE

root@iZ20jl2gwsmurdc8yz5x9dael
root@iz0jl2gwSmurdc8yz5x9ae
Creating summariser <summary>
Created the tree successfully using testChainsgl.jmx
Starting standalone test @ Thu Apr 29 16:20:01 CST 2021 (1619684401410)
Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on
summary 13 0.9/s Avg: 26 Min: 26 Max: 26
summary 112599 i 4145.6/8 Avg: 2 Min: Max: 213
summary 112600 3989.4/s Avg: 213
summary + 120086 4002.9/s Avg: 199
summary 232686 3996.3/s Avg: 213
summary 119645 3988.2/8 Avg: 253
summary 352331 3993.6/s Avg: 253
120116 4003.9/s Avg: 352
472447 3996.2/s Avg: 352
119885 3996.2/8 Avg: 626
592332 3996.2/s Avg: 626
120298 4009.9/s Avg: 69
712630 3998.5/s Avg: 626
120011 4000.4/s Avg: 327
832641 3998.8/s Avg: 626
119272 3975.7/s Avg: 215
951913 3995.9/s Avg: 626
48087 3542.6/s Avg 588

port 4445
Err:
Err:
Err:
Err:
Err:

50
50

Started:
Started:

50
50

Active: Finishe

Active:

(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.008%)
(0.00%)
(0.008%)
(0.00%)
(0.008%)
(0.00%)
(0.00%)
(0.008%)
{0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)
(0.00%)

Active: 50 Started: 50

Active: 50 Started: 50

Active: 50 Started: 50

Active: 50 Started: 50

Active: 50 Started: 50 Finishe

Max: Active: 50 Started: 50 Finishe
Max:
Max:
Max:
Max:

04:12 = 3 Min: 0 Max:

Active: 50 Started: 50 Finishe

Active: 0 Started: 50 Finished

=
i
=
"
-
3
5
i
;
r

up

3971.4/s Avg: (0.00%)

€ Thu Apr 29 16:24:13 CST 2021 (1619684653575)

of run

root@iz0jl2gwSmur9c8yz5x9ael

ledger time
txn_count =
txn_success

testChainsgl# sh calcul_ ledger.sh
total = 284

1000000

= 1000000

0
B TPS = 3521.12/s

_failure =
BV EK
root@i20jl2gwsmur9c8yz5x9ael:~/testChainsgl# I

53 RIEXFMHIRLER

CPU% Basic Memory Ba: Network bandwidth usage per second All

9.31GiB

1.66 GiB

15.15 GiB

1515

System Load Disk R/W Data

Disk Space Used% Basic

50 MB/s
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e, PeerSafe.

6.1.6 50 M m

EERZ SR BRAE

(1) POP &%
1. Payment B4

1.1 gt

= BETERIZE W=

Payment 2 1 100 M PR XA 555 4T 10000 ¥ | 3545 TPS, i K I [a]

1.2 ML R

root@iz0j12gwbmurSc8yzsx9aeZ:-/testChainsgl# sh rumJmeter.sh
ICreating summariser <summary>
ICreated the tree suc fully using testChainsqgl.jmx
Starting standalone test & Thu Apr 29 17:51:01 CST 2021 (1619689B61881)
[Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
7 Min: 17 3 Active: 2 rte 29 Finished:
3 Min: 0 Mz . Activ 5 L e Finished:
Min:
: Min: Max: 2 23 0 (0. Active: 50 Started: Finished:
115833 - s 3 Min:
60055 s -8/ : Min: 3 243 . Active: 50 Started: Finished:
175888 9 v Min:
6 6 009. Min: 0 r 0. Active: 50 Started: Pinished:
236184 i $58 = .2 Min:
59683 i 3 = 5 7 Min: e s ) Active: Started: Finished:
295867 1 g :28 .8/8 ] Min:
60092 i :30 . Min: : . Active: 50 Started: Finished:
355959 8 2002. Min: 0
59988 = . Min: Ma 7 %) Active: 50 Started: Finished:
415947 0 2 2. 8 Av s a 332 E 0
59805 i = g -5/ = Min: : 240 Err: - Active: 50 Started: Finished:
475752 in 0 L] 2001.2/ Min: 0 322
60312 H 130 = J o Min: 0 M 325 E : Active: 50 Started: Finished:
536064 1 128 = «3/8 Min: 332
60104 4 130 = . Min: 3 260 0 Active: 50 Starte Finished:
596168 i 2002. 3 Min: 0 X 332
60293 0 30 2009.8/s Min: 734 Er %) Active: Started: Finished:
656461 : 2003.1/s Min: 734
60017 0 0 = 1998.5/s : 0 2 595 0. Active: 50 Started: Finished:
716 i 2002.7/8 Min: 734
59624 1 1989.5/s Min: : 206 Active: 50 Started: Finished:
776102 i = 2001.7/s Min: 734
60041 2001.3/s 3 7 Min: g 493 Br D (0. Active: 50 Started: Finished:
836143 4 2001.6/8 Min: H 734
59774 :00: = 1992.5/s Min: : 698 Err: D = Active: 50 Started: 50 Finished:
895917 i 2001.0/s Min: 734
59798 i = 1993.3/8 Av Min: 254 E 0 (0. Activ 0 Started: 50 Finished:
955715 i 8 2000.5/s Min: b 734
44285 in 0 0 1943.9/s Min: 274 . Active: 0 Started: 50 Finished:
1000000 in 00:08:21 = 1998.0/s Avg: 4 Min:
@ Thu Apr 29 17:59:22 CST 2021 (1619690362782)

I+ 0+ 0+ 0+

+

; o+
o+
=
+
=
i,
+

root@iZ0jl2gwSmurcs aeZ:~/testChainsqgl# sh cal _ledger.sh
ledger time total = 500

txn_count = 1000041

tixn_success = 1000041

txn_failure = 0

EHEKZT BN TS =
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e, PeerSafe.

EERZ SR BRAE

CPU% Basic Memory Basic Network bandwidth usage per second All

System Load Disk R/W Data Disk Space Used% Basic
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e, PeerSafe.

[root€120j12gwSmur9c8yz5x9aeZ:~/testChainsql# sh rumJmeter.sh
reating summariser <summary>
Created the tree successfully using testChainsgl.imx
[Starting standalone test @ Thu Apr 29 1 7:11 CST 2021 (16196B9031559)

for possible Shutdown/StopTestlow/HeapDump/ThreadDump message on

+ 36223 in 00:00:18 = 2009.6/s Avg: 2 Min: 0 ¥ p ] .00%) Active Started: Finished:

59973 1 :00:30 1999.1/s : Min: 0 171 Err: .00%) Active: 50 Started: Finished:

96196 0:48 = 2003 s Min 0¥ 206 ) 0 .00%)
0
0

EERZ SR BRAE

60028 00:00:30 = 2000.9/s Min: 208 H .00%) Active: Started: Finished:
156224 1 1:18 Min 208 .00%)

59655 i E 1988.6/ Min » 85 00%) Active: Started: Finished:
215879 i 1 = 1998.4/s Min 0 208 .00%)

59970 i 1999.0/s Min » 279 E ( )0%) Active: Started: Finished:

5849 i Min » 279 E .00%)

60078 i 3 2001.7/s 240 .00%) Active: Started: Finished:
335927 i H 1999.1/s 279 H .00%)

59786 i 3 1993.7/s 227 of ] .00%) Active: Started: Finished:
395713 i 3 1998.3/s 279 H 00%)

60047 i 2001.6/s 277 1 .00%) Active: 50 Started: 50 Finished:
455760 i 8 1998.7/s 279 1 .00%)

60390 i 2012.9/s 221 H .00%) Active: 50 Started: Finished:
516150 i 2000.4/s 279 H -00%)

60103 i H = 2003.5/s 480 ] 00%) Active: 50 Started: Finished:
576253 ir 24 2000.7/s 480 Err: .00%)

59800 i [ 1993.3/s 269 Err: ) .00%) Active: 50 Started: Finished:
636053 i = 2000.0/s 480 H .00%)

60005 i : 2000.2/s 208 ) .00%) Active: Started: Finished
696058 i 2000.0/s Avg: 480 .00%)

60023 i = 2000.7/s Avg: 225 .00%) Active: Started: Finished:
756081 i 6 8 2000.1/s Avg: 480 E 0.00%)

59917 i : = 1997.3/s Avg: 238 .00%) Active: Started: Finished:
815998 : = 1999.9/s Avg: 480 .00%)

60220 2007.3/s Avg: 145 .00%) Acti Started: 50 Finishe
876218 i 2000.4/s Avg: H 480 H (0.00%)

59904 i 1996.8/s Avg: Min: » 214 .00%) Active: Started: 50 Finished:
936122 00:07:48 = 2000.2/s Avg: 480 .00%)

60339 in 00:00:30 2011.2/s Avyg: Min: » ] 215 H .00%) Active: 50 Started: 50 Finished:
996461 in 0 )8:18 2000.8/s Avg: Min » 480 .00%)

3539 in 00:00:02 = 1557.7/s Avg: Min: ) : 242 H ] .00%) Active: 0 Started: 50 Finished: 5
1000000 in 00:08:20 = 1998.8/s Aw 2 Min: 0 Max: 480 Err: 0 (0.00%)

@ Thu Apr 29 17:45:32 CST 2021 (16139689532274)

WNENGRNRONRNWGRORNRNRNR

W+ 0+ 0+

+
+
+
+
+

CRNRNRONNWNWR SRR WL

o+ o+

yz5x9aeZ:~/testChainsgl# sh calcul_ledger.sh
ledger time = 503
txn_count = 1000000
[txn_success = 1000000
jtxn failure o
4 f9TPs = 1988.07/s
root@iZ20jl2gwSmur9c8yz5x9a ~/testChainsgl#
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8, PeerSafe.

EERZ SR BRAE

root@iZ0jl2gwSmur9c8yz5x9aeZ:~/testChainsgl# sh testSubLedger.sh
2021 5:36:35 PM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.205:6006

onnect success

Apr 29,

index:10,ledger
index:11, ledger
index:12, ledger
index:13, ledger
index:14, ledger
index:15, ledger
index:16,ledger
index:17, ledger
index:18, ledger
index:19, ledger
index:20, ledger
index:21, ledger
index:22,ledger
index:23, ledger
index:24, ledger
index:25, ledger
index:26,ledger
index:27,ledger
index:28, ledger
index:29, ledger
index:30, ledger
index:31, ledger
index:32, ledger
index:33, ledger
index:34,ledger
index:35, ledger
index:36,ledger
index:37, ledger
index:38, ledger
index:39, ledger
index:40, ledger
index:41, ledger
index:42,ledger
index:43, ledger
index:44,ledger
index:45, ledger
index:46, ledger
index:47,ledger
index:48, ledger
index:49, ledger
index:50, ledger
index:51, ledger
index:52, ledger
index:53, ledger
index:54, ledger
index:55, ledger
index:56, ledger
index:57, ledger
index:58, ledger
index:59, ledger
index:60, ledger
index:61,ledger
index:62, ledger
index:63,ledger
index:64,ledger
index:65, ledger
index:66, ledger
index:67,ledger
index:68, ledger
index:69,ledger
index:70, ledger
index:71, ledger
index:72,ledger
index:73, ledger

time:0,txn count:965,txn success:965,txn failure:0

time:3,txn_count:5990,txn success:5990,txn_failure:0
time:3,txn_count:5861,txn success:5861,txn_failure:0
time:3,txn_count:6076,txn success:6076,txn_failure:0
time:1,txn count:1872,txn_success:1872,txn_failure:0
time:3,txn_count:6280,txn_success:6280,txn_failure:0
time:1,txn count:3626,txn success:3626,txn_failure:0
time:2,txn_count:3404,txn success:3404,txn_failure:0
time:3,txn_count:4905,txn_success:4905,txn_failure:0
time:3,txn_count:5781,txn success:5781,txn_failure:0
time:3,txn_count:6208,txn_success:6208,txn_failure:0
time:1,txn_count:3573,txn_success:3573,txn_failure:0
time:2,txn_count:3376,txn success:3376,txn_failure:0
time:2,txn_count:2849,txn success:2849,txn_failure:0
time:1l,txn_count:2777,txn_success:2777,txn_failure:0
time:3,txn_count:5319,txn success:5319,txn_failure:0
time:1l,txn_count:3274,txn _success:3274,txn_failure:0

time:3,txn_count:12866,txn_success:12866,txn_failure:0

time:5,txn_count:4413,txn _success:4413,txn_failure:0
time:3,txn_count:3826,txn_success:3826,txn_failure:0
time:1l,txn_count:3803,txn_success:3803,txn_failure:0
time:2,txn_count:3186,txn success:3186,txn_failure:0
time:2,txn_count:2866,txn success:2866,txn failure:0

time:3,txn_count:10740,txn_success:10740,txn_failure:0

time:3,txn_count:4588,txn success:4588,txn_failure:0
time:3,txn _count:2766,txn_success:2766,txn_failure:0
time:l,txn_count:1772,txn_success:1772,txn_failure:0
time:1,txn _count:2137,txn_success:2137,txn_failure:0
time:1,txn _count:2043,txn_success:2043,txn_failure:0
time:1,txn count:1741,txn success:1741,txn_failure:0
time:1l,txn_count:1840,txn success:1840,txn failure:0
time:1,txn_count:1968,txn_success:1968,txn_failure:0
time:1l,txn_count:2005,txn_success:2005,txn_failure:0
time:1,txn count:2091,txn success:2091,txn_failure:0
time:1,txn _count:2003,txn success:2003,txn_failure:0
time:1,txn count:1969,txn success:1969,txn_failure:0
time:1,txn_count:2094,txn success:2094,txn failure:0
time:1,txn _count:2175,txn_success:2175,txn_failure:0
time:1,txn_count:3053,txn_success:3053,txn_failure:0
time:1,txn_count:1577,txn success:1577,txn_failure:0
time:1,txn count:1372,txn success:1372,txn_failure:0
time:1,txn _count:1818,txn success:1818,txn_failure:0
time:1,txn_count:2033,txn success:2033,txn_failure:0
time:2,txn count:4074,txn success:4074,txn failure:0
time:2,txn_count:3589,txn_success:3589,txn_failure:0
time:1,txn _count:3321,txn success:3321,txn_failure:0
time:1,txn_count:2248,txn_success:2248,txn_failure:0
time:1,txn_count:2298,txn success:2298,txn_failure:0
time:1,txn_count:1836,txn success:1836,txn_failure:0
time:1,txn count:3510,txn_success:3510,txn failure:0
time:3,txn_count:3075,txn_success:3075,txn_failure:0
time:1,txn_count:3260,txn_success:3260,txn_failure:0
time:2,txn_count:3246,txn_success:3246,txn_failure:0
time:2,txn_count:3210,txn success:3210,txn_failure:0
time:1,txn_count:3039,txn success:3039,txn_failure:0

time:10,txn_count:20000,txn success:20000,txn_failure:0

time:3,txn_count:6116,txn_success:6116,txn_failure:0
time:3,txn_count:5089,txn success:5089,txn_failure:0
time:2,txn_count:3938,txn success:3938,txn_failure:0
time:2,txn_count:3414,txn success:3414,txn_failure:0
time:1,txn_count:3589,txn success:3589,txn_failure:0
time:1l,txn_count:2233,txn success:2233,txn_failure:0
time:1,txn_count:1665,txn_success:1665,txn_failure:0
time:12,txn_count
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rootfiZ0j12gwSmurdcByz5x9ael:~/testChainagl# sh rumimeter.sh
Creating summariser <summary:
Created the tree successfully using testChainsgl.jmx
ne test @ Thu Apr 29 1 6:49 CST 2021 (16196%1409111)
for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
15952 in 00:0C 1 151 : 2 Min: 0 Max: 179 Err: (0.00%) Started:
44642 in 00:0 8 5 Min: Max: 407 Err: (0.00%) 50 Started:
60594 i 9 / Min: Max 407 Brzr: (0.00%)
44782 i 5 Min: Max: 62 Brr: (0.008) Active: 50 Started: Finished:
105376 i 0:0 Avg: Min: Max: 407 Err: (0.00%)
44830 i :0 Avg: Min: Max 1223 Brr: (0.00%) Active: 50 Started: Finished: (
150206 i 9 Min: 1223 Brr: (0.00%)
45382 i Min: M 87 Brr: (0.00%) Active: 50 Started: Finis
195588 i 0:0 Min: Brr: (0.00%)
44818 in 0OC / Min: 2 39 Brr: 0 (0.00%) Active: 50 Started: Finished:
240406 G 2 1497.7/s Min: M 23 Err: (0.00%)
1499.9/s Min: Err: (0.00%) Active: 50 Started: Finished:
1498.0 : Min: : 23 Brr:
1461.0 Min: B Err: 5 Finished:
1493 : Min: H 223 Brr:
Min: 0 Ma Err; c 50 0 Finish
Min: ) X: Err:
10:00:30 5 Min: B 06 Err: t 50 50 Finis
420510 in 00:04:41 1499.1/s t Min: 3 Err:
43854 00:0 143 d Err: 08 d 0 Finished:
464364 00:05:11 1493.1/s gt t 1338 Err: 0
46431 00:0 0 1573.1/s gt 0 Err: Active: 50 Started: 50 Finished:
510795 in 00:05: 1500.1/s Avg H Err:
i Err: C Ac 0 Started: 50 Finished:
555731 i o A : x: 44 Err:
44934 ir - i Max: 01 Err: 0 i 0 Started: & Finish
600665 in 00:0 £ 0 x: Err:
45023 ir 0:0 - 5 0 H (0.003%) Rctiwvi Started: 50 Finished:
i (0.00%)
(0.00%) Active: 50 Started: Finished:
1499.4/8 i Max: (0.008%)
149 A H (0.00%) Active: 50 Started: Finished:
735461 i . b K (0.008%)
45045 = : (0.00%) Active: 50 Started: Finis
780506 i 99, : : (0.00%)
44750 i 0 91. i } (0.008%) Active: 50 Started: Finished:
825256 i / 4 (0.008%)
45103 i 5 / i 0 0 (0.00%) Active: 50 Started
870359 in 00 344 (0.00%)
44925 in 00:C . 0 0 (0.00%) Active: 50 Started:
915284 in 9 & Q (0.00%)
in & : 2 0 = 2 (0.00%) Started
in 0 499.5/s in: Max x = o} (0.0
in 00:00:26 3
0 in 00:11

@ csT 2021

/testChainsql# sh calcul_ledg
total
1000000

txn_failure = 0
IK3Z B Byres =

59 RIEXFMHIRLER

Memaory Basic Network bandwidth usage per seco

18.6GIB
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MIE 59, 60 G5 A, 50 T S 2HEE HOTSTUFRF 2.3 Payment 32 135 TPS K

1510/s , 225 IR 100%; 35 HbLgs e 5 IE 7
2. InsertMent BB#HIi&1t+

2.1 Afhgit

= EThRIZE

WK

Insertment % 1 100 /™A P AR iz 4T 10000 1R

ARA5 TPS, Wi .} [F]

2.2 MiLLER

1 (1619692488533)
Waiting

SUMmMAry 3 100 20.6/s Avg: z 0 ¥ D Err:
Avg: 2 Err
Avg:

Avg:

Avg:

Avg:

781082
45051
826133
45018
871151
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ThreadDump message on port 4445

arted:
arted:

Started:

) Started:

Started:

Started:

Started:

.00%) tive: Started:
.00%)

Started:

0 Started:

Started:

Active: Started:

Active: tarted:

Started:

0.00%)

.00%) = 8-H Started:
Started:
Started:

Started:

Started:

0 (0.00%)

50 Finished:

Finished
Finished:
Finished:
Finished:
Finishe
Finished:
Finished
Finished:
Finished:
Finished:
Finished:
Finished:
Finished:
Finished:

Finighed:

) Finished:

Finished:

Finished:

) Finished:
} Finished:

0 Finished:
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root@1Z0j12gwbmur9c8yz5x9aeZ:~/testChainsgl# sh testSubLedger.sh
Apr 29, 2021 6:34:36 PM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.205:6006

onnect success

index:9,ledger time:0,txn_count:30,txn_success:30,txn_failure:0

index:10,ledger
index:11,ledger
index:12,ledger
index:13, ledger
index:14,ledger
index:15, ledger
index:16,ledger
index:17,ledger
index:18,ledger
index:19,ledger
index:20, ledger
index:21,ledger
index:22,ledger
index:23, ledger
index:24,ledger
index:25, ledger
index:26,ledger
index:27,ledger
index:28, ledger
index:29,ledger
index:30, ledger
index:31, ledger
index:32,ledger
index:33, ledger
index:34, ledger
index:35, ledger
index:36,ledger
index:37,ledger
index:38,ledger
index:39,ledger
index:40,ledger
index:41,ledger
index:42,ledger
index:43,ledger
index:44,ledger
index:45, ledger
index:46,ledger
index:47, ledger
index:48, ledger
index:49, ledger
index:50, ledger
index:51, ledger
index:52,ledger
index:53,ledger
index:54, ledger
index:55,ledger

time:3,txn_count:5473,txn success:5473,txn_failure:0
time:3,txn_count:4334,txn_success:4334,txn_failure:0
time:8,txn_count:12160,txn_success:12160,txn failure:
time:3,txn _count:4394,txn_success:4394,txn_failure:0
time:3,txn_count:4958,txn_success:4958,txn_failure:0
time:3,txn_count:4269,txn success:4269,txn_failure:0
time:3,txn_count:4308,txn_success:4308,txn_failure:0
time:3,txn count:4922,txn success:4922,txn_failure:0
time:3,txn_count:4092,txn success:4092,txn_failure:0

time:16,txn_count:20000,txn_success:20000,txn_failure:0

time:3,txn_count:8328,txn_success:8328,txn_failure:0
time:3,txn_count:4719,txn_success:4719,txn_failure:0
time:3,txn_count:4436,txn_success:4436,txn_failure:0
time:3,txn_count:4506,txn success:4506,txn_failure:0
time:3,txn_count:4544,txn success:4544,txn_failure:0
time:3,txn_count:4281,txn success:4281,txn_failure:0
time:8,txn_count:11986,txn_success:11986,txn failure:
time:3,txn_count:4548,txn success:4548,txn_failure:0
time:3,txn_count:4276,txn success:4276,txn_failure:0
time:3,txn_count:4633,txn success:4633,txn failure:0
time:8,txn count:12245,txn_success:12245,txn_ failure:
time:3,txn_count:4420,txn success:4420,txn_failure:0
time:8,txn _count:12730,txn_success:12730,txn_ failure:
time:3,txn_count:3142,txn_success:3142,txn_failure:0
time:3,txn_count:5056,txn success:5056,txn failure:0
time:3,txn_count:4320,txn_success:4320,txn_failure:0
time:3,txn_count:4367,txn success:4367,txn_failure:0
time:3,txn_count:4782,txn_success:4782,txn_failure:0
time:3,txn count:4376,txn_success:4376,txn_failure:0
time:3,txn_count:4630,txn success:4630,txn_failure:0
time:3,txn_count:4442,txn_success:4442,txn_failure:0
time:3,txn_count:4504,txn success:4504,txn_failure:0
time:8,txn_count:12203,txn_success:12203,txn_failure:
time:3,txn_count:4236,txn_success:4236,txn_failure:0
time:8,txn_count:12069,txn_success:12069,txn failure:
time:3,txn_count:4276,txn_success:4276,txn_failure:0
time:8,txn_count:12217,txn_success:12217,txn_failure:
time:3,txn_count:4691,txn success:4691,txn_failure:0
time:3,txn_count:4314,txn success:4314,txn_failure:0
time:3,txn_count:4371,txn success:4371,txn_failure:0
time:3,txn_count:4453,txn success:4453,txn_failure:0
time:3,txn_count:4508,txn_success:4508,txn_failure:0
time:3,txn_count:4535,txn success:4535,txn_failure:0
time:8,txn_count:12150,txn_success:12150,txn failure:
time:3,txn_count:4481,txn success:4481,txn_failure:0
time:3,txn count:4525 txn success:4525 txn failure:0
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CPU% Basic Memory Basic Network bandwidth usage per second All

1515GiB 15 3B 15 eth0_transmit 5.15 kb

1515Gi8 1 B 15 eth0_wransmit  515kb/s

System Load Disk R/W Data Disk Space Used% Basic

100 MB/!

CPU cores

CPU cores

63 %ll\\*Jlﬁ;k: %E
2.3 LB

M EFE 61, 52, 63 FPRZERITEE, 50 N5 T hotstuff 3% 100 J72E insertment %25 Y
WTPS o4 1494/s , HBLT 14> 73s AVEHE X, KE - RIRALEETE 3s Ve, 17 LAy

PR IR .

6.1.7 EEEIRE

(1admin A& BHIET

= BETERIZE W=

AMEEFRPAE 14 | 100 4 P& 1% admin AHRE 5847 RIS TPS, Wi J37 st ]

B 10000 ¥k

AR5 REE

reating summariser <summary>
reated the tree successfully using testChainsqgl.jmx
Sr_artlnq standalone test € Mon Apr 12 11:58:13 CST 2021 (1618199893456)
for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
y + 251291 in 00:00:16 = 15531.9/s Avg: 4 Min: 0 Max: 205 Err: 0.00%) Active: 100 Started: 100 Finished

+ 514464 in 00:00:30 = 17148.8/s Avg: 5 Min: 0 Max: 120 Err: 0.00%) Active: 100 Started: 100 Finished

= 765755 in 00: G - 4 Avg: 5 Min: 0 Max: 205 Err: 0.00%)
y + 234245 in 00:00: Avg: 5 Min: 0 Max: 91 Err: 0.00%) Active: 0 Started: 100 Finished:

= 1000000 in 00:01:02 16114.5/s Avg: 5 Min: 0 Max: 205 Erx: 0 (0.00%)
Tidying up ... @ Mon Apr 12 11:59:15 CST 2021 (1618199955877)
. end of run
root€host04:~/testChainsql#
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Total Throughput

Transactions Response Times

Network Traffic

65 EWEREEE

B.&R o

M EEFRFRRISE, Fdos 1480, 100 N P 100 52 50RE A admin )70
B e K TPS iy 17380/s, “F-2 i 7 I 7] A 5.42ms.

(2) get FXXESE

= BTHRIRE Wi R

ANIMEEFRPAE 14 | 100 4 P %1% admin B 3E 5B 4T AT TPS, M 3 Bf ]

B 10000 K

AN EREE:

[Creating summariser <summary>

created the tree successfully using testChainsql.jmx

Starting standalone test @ Mon Apr 12 11:37: CST 2021 (161B8198648572)

[Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445

summary + 5959 in 00:00:01 = 5648.3/s Avg: 1 Min: 0 Max: 27 Err: 0 (0.00%) Active: 100 Started: 100 Finished:

406730 in 00:00:30 = 13557.7/s Avg: 6 Min: 0 Max: 213 Erzx: 0 (0.00%) Active: 100 Started: 100 Finished

412689 in :00: 13289.0/s Avg: 6 H Max: 213 Erx: 0 (0.00%)
419020 in = 13967.3/s Avg: 6 3 Max: 82 Err: 0 (0.00%) Active: 100 Started: 100 Finished

= 831709 in 13622.3/8 Avg: 6 : 0 Max: 213 Err: 0 .00%)
168291 in :00: 9599.1/8 Avg: 0 Max: 212 Err: 0 00%) Active: 0 Started: 100 Finished: 1

1000000 in 00:01:19 = 12724.8/s Avg: 0 Max: 213 Brr: 0 (0.00%)
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root@iz0j19910ursfuocclvg98Z:~/testChainsql# sh rumImeter.sh

Creating summariser <summary>

Created the tree successfully using testChainsgl.jmx

Starting standalone test € Wed Apr 28 1:12 CST 2021 (1619580672973)

Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445

summary 117725 in 00 .3/s v 11 Min: 0 Max: 640 (0.00%) Active: 100 Started: 100

summary 182858 in 5.3/8 6 Max: 710 (0.00%) Active: 100 Started: 100

summary 300583 in : Max: 710 Err: (0.00%)

summary 1B2166 in Max: 842 (0.00%) Active: 100 Started: 100

summary 482749 in Max: B42 E (0.00%)
183304 in Max: 827 (0.00%) Active: 100 Started: 100 t 0
666053 in Max: B42 E 0 (0.00%)

Max: 500 (0.00%) Active: 100 Started: 100 Finished: 0
848350 in Max: 842 Er (0.00%)
151650 in Max: 2283 (0.00%) Active: 0 Started: 100 Finished: 100
1000000 in 0 -1/2 2 15 Min: 0 Max: 2283 Err: 0 (0.00%)

Tidying wan @ Wed Apr 28 11:33:58 CST 2021 (1619580838505)

.. end

root@iZ03j19910ursfuocclvg98Z:~/testChainsql# sh calcul_ledger.sh

ledger time total = 164

txn_count = 1000000

txn_success = 1000000

txn_failure = 0

SPRKXENTPS = 6097.56/s

root@i%0§19910ursfuocclvg98z:~/testChainsql#

nnona

182297 in
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d j ’
Apr 28, 2021 11:25:50 AM com.peersafe.base.client.Client log
INFO: Connecting to ws://172.16.144.189:6006
connect success

ledger

index:2, ledger

index:3, ledger

index:4, ledger

index:5, ledger

index:6,ledger

index:7, ledger

index:8, ledger

index:9, ledger

index:10,ledger
index:11,ledger
index:12,ledger
index:13,ledger
index:14,ledger
index:15,ledger
index:16,ledger
index:17,ledger
index:18,ledger
index:19,ledger
index:20,ledger
index:21,ledger
index:22,ledger
index:23,ledger
index:24,ledger
index:25,ledger
index:26,ledger
index:27,ledger
index:28,ledger
index:29,ledger
index:30,ledger
index:31,ledger
index:32,ledger
index:33,ledger
index:34,ledger
index:35, ledger
index:36,ledger
index:37,ledger
index:38,ledger
index:39,ledger
index:40,ledger
index:41,ledger
index:42,ledger
index:43,ledger
index:44,ledger
index:45, ledger
index:46,ledger
index:47,ledger
index:48.ledaer

time:0,txn_count:6373,txn_success:6373,txn_failure:0
time:3,txn count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:16252,txn_success:16252,txn_failure:0
time:2,txn_count:11298,txn_success:11298,txn_failure:0
time:2,txn_count:10707,txn_success:10707,txn_failure:0
time:1,txn count:6952,txn_success:6952,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:15991,txn_success:15991,txn_failure:|{
time:2,txn_count:13488,txn_success:13488,txn_ failure:|
time:1,txn_count:8831,txn_success:8831,txn_failure:0
time:3,txn_count:13544,txn_success:13544,txn_failure:|{
time:1,txn_count:9047,txn_success:9047,txn_failure:0
time:2,txn_count:9796,txn_success:9796,txn_failure:0
time:1,txn_count:6987,txn_success:6987,txn_failure:0
time:3,txn_count:19185,txn_success:19185,txn_failure:
time:1,txn_count:12871,txn_success:12871,txn_failure:|{
time:2,txn_count:6830,txn_success:6830,txn_failure:0
time:1,txn_count:4414,txn_success:4414,txn_failure:0
time:2,txn_count:20000,txn_success:20000,txn_failure:|{
time:2,txn_count:14900,txn success:14900,txn failure:
time:2,txn_count:7497,txn_success:7497,txn_failure:0
time:1,txn_count:3692,txn_success:3692,txn_failure:0
time:1,txn_count:1196,txn_success:1196,txn_ failure:0
time:1,txn_count:4864,txn_success:4864,txn_failure:0
time:1,txn_count:5707,txn_success:5707,txn_failure:0
time:1,txn_count:6508,txn_success:6508,txn_failure:0
time:1,txn_count:6420,txn_success:6420,txn_failure:0
time:1,txn_count:6884,txn success:6884,txn_failure:0
time:1,txn_count:7152,txn_success:7152,txn_failure:0
time:1,txn_count:5128,txn_success:5128,txn_failure:0
time:1,txn_count:4784,txn_success:4784,txn failure:0
time:1,txn_count:6670,txn_success:6670,txn_failure:0
time:1,txn_count:6138,txn_success:6138,txn_failure:0
time:1,txn_count:7292,txn_success:7292,txn_failure:0
time:1,txn_count:6232,txn_success:6232,txn_failure:0
time:1,txn_count:5304,txn_success:5304,txn_failure:0
time:1,txn_count:5577,txn_success:5577,txn_failure:0
time:1,txn_count:4656,txn_success:4656,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:
time:1,txn_count:20000,txn_success:20000,txn_failure:|
time:3,txn_count:9503,txn_success:9503,txn_failure:0
time:1,txn_count:4942,txn success:4942,txn failure:0
time:1,txn_count:1635,txn_success:1635,txn_failure:0
time:1,txn_count:3899,txn success:3899,txn_failure:0
time:1,txn _count:6743,txn_success:6743,txn_failure:0
time:1.txn count:4327.txn success:4327.txn failure:0
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root@iZ0319910ursfuocclvg982:~/testChainsgl# sh rumImeter.sh
Creating summariser <summary>
Created the tree successfully using testChainsgl.jmx
Starting standalone test € Wed Apr 28 11:31:12 CST 2021 (1619580672973)
Waiting for possible Shutdown/StopTestNow/HeapDump/ThreadDump message on port 4445
summary 117725 in H ] 7107.3/8 Avg: 11 Min: 0 Max: 640 : .00%) : 100 Started: Finished:
summary 182858 in H 6095.3/8 Avg: 16 Min: Max: 710 3 0.00%) 100 Started: Finished:
300583 in H 6455.3/s Avg: 14 Min: Max: 710 -00%)
182166 in ] 6072.2/8 Avg: Min: L EVH 842 0.00%) Active: 100 Started: 100 Finished:
482749 in s 6305.2/s Avg: Min: Max: 842 2 .00%)
183304 in :100: 6110.1/s Avg: Min: Max: 827 : .00%) Active: 100 Started: 100 Finished:
666053 in 101z 6250.3/s Avg: Min: Max: 842 .00%)
182297 in t 6076.6/s Avg: ] Max: 500 : .00%) Active: 100 Started: 100 Finished:
848350 in H 6212.1/s Avg: H Max: 842 : .00%)
151650 in H 5320.1/s Avg: in: Max: 2283 t 00%) Active: 0 Started: 100 Finished:
1000000 in 00:02:45 = 6058.1/s Aw 0 Max: 2283 Err: 0 (0.00%)
@ Wed Apr 28 11:33:58 CST 2021 (1619580838505)

root@iZ0j19910ursfuoccOvg98z:~/testChainsql# sh calcul_ledger.sh
ledger time total = 164

txn_count = 1000000

txn_success 1000000

txn failure = 0

BUAEZBHTPS = 6097.56/s

root@iz03j19910ursfuocc0vg98Z:~/testChainsg
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EERZ SR BRAE

00t € ursfuoceOvg9 Led
Apr za 2021 11:25:50 AN com. peersafe Hane olient e1tent 1nq

INFO: Connecting to ws:
connect success

//172.16.144.189:6006

index:2, ledger time:0,txn_count:6373,txn_success:6373,txn_failur

index:3, ledger t

ime:3,txn_count:20000,txn_success:20000,

txn_failure:0

index:4,ledger time:2,txn_count:20000,txn_success:20000,txn_failure:0
index:5,ledger time:2,txn_count:16252,txn_success:16252,txn_failure:0
index:6, ledger time:2,txn_count:11298,txn_success:11298,txn_failure:0

index:7, ledger t
index:8, ledger t
index:9, ledger t

index:14, ledger
index:15,ledger
index:16,ledger
index:17, ledger
index:18,ledger
index:19,ledger
index:20, ledger
index:21,ledger
index:22,ledger
index:23, ledger
index:24,ledger
index:25,ledger
index:26,ledger
index:27,ledger
index:28,ledger
index:29,ledger
index:30,ledger
index:31,ledger
index:32,ledger
index:33,ledger
index:34,ledger
index:35,ledger
index:36,ledger
index:37,ledger
index:38,ledger
index:39,ledger
index:40,ledger
index:41,ledger
index:42, ledger
index:43,ledger
index:44,ledger
index:45, ledger
index:46,ledger
index:47,ledger
index:48, ledger
index:49,ledger
index:50,ledger
index:51,ledger
index:52,ledger
index:53,ledger
index:54, ledger
index:55,ledger
index:56,ledger
index:57, ledger
index:58,ledger
index:59,ledger
index:60, ledger
index:61,ledger
index:62,ledger
index:63,ledger
index:64,ledger
index:65,ledger
index:66,ledger
index:67,ledger
index:68,ledger
index:69,ledger
index:70,ledger
index:71,ledger
index:72,ledger
index:73,ledger
index:74,ledger
index:75,ledger
index:7#,ledger
index:78,ledger
index:79,ledger
index:80, ledger
index:81,ledger
index:82,ledger
index:83, ledger
index:84,ledger
index:85,ledger
index:86, ledger
index:87,ledger
index:88,ledger
index:89,ledger
index:90,ledger
index:91,ledger
index:92, ledger
index:93,ledger
index:94,ledger
index:95, ledger
index:96,ledger
index:97,ledger
index:98, ledger
index:99, ledger
index:100,ledger
index:101,ledger
index:102,ledger
index:103,ledger
index:104,ledger
index:105,1ledger
index:106,ledger
index:107,ledger
index:108,ledger
index:109,ledger
index:110,ledger
index:111,ledger
index:112,ledger
index:113,ledger

ime:2,txn_count:10707,txn_success:10707,

txn_failure:0

ime:1,txn_count:6952,txn_success:6952,txn_failure:

ime:2,txn_count:20000,txn_success:20000,

txn_failure:0

time:3,txn_count:15991,txn_success:15991,txn_failur
time:2,txn_count:13488,txn_success:13488,txn_failure:0
time:1,txn_count:8831,txn_success:8831,txn failu

time:3,txn_coun

time:1,txn_count:9047, txn_success:9047,txn_failure:0
time:2,txn_count:9796,txn_success:9796,txn_failure:0
time:1,txn_count:6987,txn_success:6987,txn_failure:0
time:3,txn_count:19185,txn_success:19185,txn_failure:0
time:1,txn_count:12871,txn_success:12871,txn_failure:0
time:2,txn_count:6830,txn_success:6830,txn_failure:0
time:1,txn_count:4414,txn_success:4414,txn_failure:0

time:2,txn_count:20000,txn_succes:
time:2,txn_count:14900,txn_succes:
time:2,txn_count:7497,txn_success
time:1,txn_count:3692,txn_success
time:1,txn_count:1196,txn_success
time:1,txn_count:4864,txn_success
time:1,txn_count:5707,txn_success

time:l,tancuunt:6508.txngsuccess'ﬁ508,txn:failure:0
time:1,txn_count:6420,txn_success:6420,txn failure:0

time:1,txn_count:6884,txn_success:6884,txn_ failure:0

time:1,txn_count:7152,txn_success:7152,txn_failure:0
time:1,txn_count:5128,txn_success:5128,txn_failure:0
time:1,txn_count:4784,txn_success:4784,txn_failure:0
time:1,txn_count:6670,txn_success:6670,txn_failure:0
time:1,txn_count:6138,txn_success:6138,txn_failure:0
time:1,txn_count:7292,txn_success:7292,txn_failure:0
time:1,txn_count:6232,txn_success:6232,txn_failure:0

time:1,txn_count:5304,txn_success
time:1,txn_count:5577,txn_success

time:1,txn_count:4656,txn_success:4656,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failur
time:1,txn_count:20000,txn_success:20000,txn_failure:0
time:3,txn_count:9503,txn_success:9503,txn_failure:0
time:1,txn_count:4942,txn_success:4942,txn_failure:0
time:1,txn_count:1635,txn_success:1635,txn_failure:0
time:1,txn_count:3899,txn_success:3899,txn_failure:0
time:1,txn_count:6743,txn_success:6743,txn_failure:0
time:1,txn_count:4327,txn_success:4327,txn_failure:0
time:1,txn_count:7030,txn_success:7030,txn_failure:0

time:1,txn_coun

time:1,txn_count:6041,txn_success:6041,txn failure:0
time:1,txn_count:5809,txn_success:5809,txn_failure:0
time:1,txn_count:6156,txn_success:6156,txn_ failure:0
time:1,txn_count:7531, txn success:7531,txn_failure:0
time:1,txn_count:6493,txn_success:6493,txn_failure:0
time:1,txn_count:5600,txn_success:5600,txn_failure:0
time:3,txn_count:20000,txn_success:20000,txn_failure:0
time:2,txn_count:19325,txn_success:19325,txn_failure:0
time:2,txn_count:9224,txn_success:9224,txn_failure:0
time:1,txn_count:7866,txn_success:7866,txn failure:0
time:1,txn_count:6378,txn_success:6378,txn_failure:0
time:1,txn_count:4363,txn_success:4363,txn_failure:0
time:1l,txn_count:7431,txn success:7431,txn_failure:0
time:1,txn_count:5656,txn_success:5656,txn_failure:0
time:1,txn_coun 559, txn_success:3559,txn_failure:0
time:1, t)cn count:4100, an success:4100,txn_failure:0
time:1,txn_count:7533,txn_success:7533,txn_failure:0
time:1,txn_count:6966,txn_success:6966,txn_failure:0

time:1,txn_count:3607,txn_success:3607,txn_failure:0

time:1,txn_count:2125,txn_success:2125,txn_failure:0

time:1,txn_count:8926,txn_success:8926,txn_failure:0

time:1,txn_count:6157,txn_success:6157,txn failure:0
time:1,txn_count:4541,txn_success:4541,txn_failure:0
time:1,txn_count:7552,txn_success:7552,txn_failure:0

time:1,txn_count:6993,txn_success

time:1,txn_count:5227,txn_success:5227,txn_failure:0
time:1,txn_count:6767,txn_success:6767,txn_failure:0

time:1,txn_count:7178,txn_success:7178,txn_failure:0
time:1,txn_count:5581,txn_success:5581,txn_failure:0
time:1,txn_count:3966,txn_success:3966,txn_failure:0

time:1,txn_count:6272,txn_success:6272,txn_failure:0
time:1,txn_count:5474,txn_success:5474,txn_failure:0
time:1,txn_count:4573,txn_success:4573,txn_failure:0
time:1,txn_count:7596,txn_success:7596 txn_failure:0
time:1,txn_count:7074,txn_success:7074,txn_failure:0
time:1,txn_count:7438,txn_success:7438,txn_failure:

time:1,txn_count:4563,txn_success:4563,txn_failure:0

time:1,txn_count:5690,txn_success:5690,txn_failure:0

time:1,txn_count:7053,txn_success:7053,txn_failure:

time:1,txn_count:5249,txn_success:5249,txn failure:0

time:1,txn_count:6100,txn_success
time:1,txn_count:7893,txn_success

time:1,txn_count:6498,txn_success:6498 txn_failure:0
time:1,txn_count:4010,txn_success:4010,txn failure:0
time:1,txn _count:5316,txn_success:5316,txn_failure:0

time:1,txn_count:6379,txn_success

time:l,txn_count:6643,txn_success:6643,txn_failure:0
time:1,txn_count:5355,txn_success:5355,txn_failure:0

ime ,txn_count:6015,txn_succes: 015,
tlme 1,txn_count:6263,txn_success:6263,

,txn_count

time~1 txn_ |_count 5635,txn:success:5635,
3663,txn_success:3663,

7379,txn_succes:

txn_failure:0
txn_failure:0

txn_failure:0
txn_failure:0

15106, txn success:15106, txn failure:0

time:1,txn_count:9054,txn_success:9054,
time:1, txn_count:3777,txn_success:3777,

txn_; failure: 0
txn_ fallure'ﬂ
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E 73 T AR ERsE
2.3 LR

MIE 71, 72, 7315H, WEALTEEAE 100 HEMARS), R TPS S 6097.56/s, 32
Gy VE SR KM 1-3s BRINVERL, 225 MII% A 100%,; 5 mAlas IR M AL 5 1R 5
g CPU,  WNAFERRE IE 3 i FH AR

(2) X2 KRFHERNERS
1. Payment 3§
1.1 At

1.2 MLLER

Created the tree successfully using testChainsqgl
Starting standalone test @ Wed Apr 28 17:14:20 CST 2021 (1619601260744)
i for po ble utdown/StopTestNow/HeapDump/ThreadDump message on port 4445

70985 00:09 = 8009. Avg: 2 Min: 0 X .00%) Active: Started: Finished:
240132 i 100z = 8004. Avg: Min: : H . ) Active: Started: Finished:
311117 i 0 H 8005. i H
239347 i 7978. H i .00%) Active: 1 Started: 0 Finished:
550464 7993.
240627 i +00: = 8020 B Mi X E . %) Active: 1 Started: 0 Finished:
791091 i :01: 8001 : 3
239857 in +00: 7995.2/ Min: X .00%) Active: 1 Started: 0 Finished:
1030948 in 00:02:09 = 8000
239032 in 00:00:30 . ¥ X .00%) Active: 100 Started: Finished:
1269980 in 00:02:39 7994.2/8 Avg: > 1003 Err 00%)
239410 in 00:00:30 7980.3/8 Avg: 1 4} 222 Err: 00%) Active: 100 Started: Finished:
1509390 in 00:03:09 3 Xt 3 00%)
239736 in 00:00:30 -2/ Mi X .00%) Active: 100 Started: 100 Finished:
1749126 in 00:03:39 v ]

in 00:00:30 = 7903.8/ Min: > . ) Ac : 100 Started: 100 Finished:

+
+
+
-

WA+

)
(0.00%) Active: 0 Started: 100 Finished: 100
) v n 0 (D.00%)
up @ Wed Apr 28 17:18:3 (1619601516564
of run
root@iz0j19910ursfuoccivgdsz: ~/testChainsql# fi




}' PeerSafe.

EERZ SR BRAE

ledger time total
txn_count = 1000000

txn_success = 1000000
txn_failure = 0

BV EKRZBMTPS = 4016.06/s
root@iz0j19910ursfucccOvg98%Z:~/testChainsql/Sub/AB# cp calcul_ ledger.sh ../BC
root@iZ0j19910ursfuoccOvg98z:~/testChainsql/Sub/AB# cd ..

root@iz03j19910ursfuoccOvg98Z:~/testChainsql/Sub/BC# sh calcul_ledger.sh

ledger time total = 245
txn_count = 1000000
txn_success = 1000000

= 4081.63/s

root@iz03j19910ursfuoccOvg98z:~/testChainsql/Sub/BC# [}

74 REFRER

1.3 &R

Vig

75 PRHBRIRER

on

M 74, 75 AJFH, R 2 & T84 X% 100 J7 payment X 50, F4E A 3L3H TPS A
4016.06/s , F4#E B BFILIE TPS Ay 4081.63, PiskTEERIILIN TPS ZA%; 7 SbLAs TR

HIEH.

2. InsertMent FHI&

2.1 Afhgit

=

EThRIZE
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2.2 MiKER




e, PeerSafe.

rootBiZ0jl9910ursfuocclvg982:~/testChainsql# sh rumimeter.sh
Creating summariser <summary>
Created the tree successfully using testChainsqgl.jmx
Starting standalone test @ Wed Apr 28 18:41:25 CST 2021 (1619606485196)
Waiting for ble Shutdown/StopTestNow/HeapDump/ThreadDump message on p:
summary 7 i 9888.9/s Avg: ] 0 0 (0.00%) Active: 100 Started: 100 Pinished
summary 439651 ) 0 14655.0/8 Avg: : 00%) Active: 100 Started: 100 Finished:
summary 483439 00:0 14042.0/8 Avg:
summary 410853 ) g 13695.1/s g: { (0.00%) Active: 100 Started: 100 Finished: 0
summary = 894292 in 00:01: 13880.5/s Avg: %)
13224.8/s Avg: (0.00%) Active: 100 Started: 100 Finished: 0
4 = 13672.2/8 Avg: 0 B 0 (0.00%)
408723 in £30 13624.1/s Avg: .1 : 5 0 (0.00%) Active: 100 Started: 100 Finished: 0
1699760 in 00 4 = 13660.6/s Avg: 0 : C 0 (0.00%)
300240 in 12900.2/8 Avg: {in: - r 0 (0.00%) Active: 0 Started: 100 Finished: 100
2000000 in 23 = 13540.8/8 Avg: 5 Min: X 1 0 (0.00%)
€ Wed Apr 28 1B:43:53 CST 2021 (1619606633274)

EERZ SR BRAE

... end of run
root@iz0j19910ursfuoccOvg98z:~/testChainsql# fi

root@iz0j19910ursfuocc0vg98z:~/testChainsqgl/Sub/AB# calcul_ledger.sh

ledger time total = 221

txn_count = 1000000

txn_success = 1000000

txn_ failure = 0

SPEKRZHMNTPS = 4524.88/s
root@izZ0j19910ursfuocc0vg98Z:~/testChainsql/Sub/AB# ../ba
-bash: cd: ../ba: No such file or directory
root@iZz0j19910ursfuocc0vg98Z:~/testChainsql /Sub/AB# ../BC/
root@iZ0j19910ursfuocc0vg98Z:~/testChainsql/Sub/BC# calcul_ledger.sh
ledger time total = 233

txn_count = 1000000

txn_success = 1000000

txn failure = 0

SVEKRZBMNTPS = 4291.84/s
root@iz0j19910ursfuocc0vg98Z:~/testChainsql/Sub/BC# [}

76 RIEFLIRER

Network bandwidth usage per

2.3 RO

MIE 76, 77 W5 H, FIREXT 2 £T45& &£ 100 7 insertMent 325, T4% A By3LiH TPS N
4524.88/s, T4% B Hy3LiR TPS 2 4291.84/s; 35 BIhZA 100%.
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EERZ SR BRAE

RIEMLE AKX XR/HEY BRThER SF2353 ) Rz B T8

100kb 2000 100% 10.002s

400kb 700 100% 13.074s

100kb 100 100% 1.646s

P
400kb 50 99.8% 3.289s

6.1.20 BEERS

Wi R #ERNBRDFE 100 FERS, Fie— M P REEREEFERSRPELE

MIXER

mysql> select count(s) from t_86A64262AB3IBOFBAICDFG11BFEDBBIBEEID21BA;
| count (%)

s

| 1000080

et

1 row in set (.26 sec)

mysql> SELECT + FROM 'information_schema'. TABLES' WHERE information_schema'. TABLES'. TABLE_NAME = 't_B6AG4262AB3BOFBASCDF6118FEDBBIBEOESI21BA" ;
| TABLE_CATALOG | TABLE_SCHEMA | TABLE_NAME | TABLE_TYPE | ENGINE | VERSION | ROW_FORMAT | TABLE_ROWS | AVG_ROW_LENGTH | DATA_LENGTH | MAX_DATA_LEN
DEX_LENGTH | DATA_FREE | AUTO_INCREMENT | CREATE_TIME | UPDATE_TIME | CHECK_TIME | TABLE_COLLATION | CHECKSUM | CREATE_OPTIONS | TABLE_COMMENT |
| def | gaodd | t_86A64262AB3IBOFBAICDFG11BFEDSBIBEOEII2IBA | BASE TABLE | InnoDB | 10 | Dynamic | 996822 | 57 | 57245696
] 4194304 | NULL | 2021-83-29 16:38:39 | 2021-83-29 16:40:54 | NULL | latinl_swedish_ci | L | |

1 row in set (9.00 sec) ‘ ’
78 HURAE
MNEBEY, TREFE 1355 % 100 B EXRXZEIERL R AN, BHEH TPS A 7407/s,

6.2 REMENUE

(1) Aflst

W B NiAmRIgE MW=

FE0; chainsql SCHFE 7*24h Fa5E | BFFP 50 R 5 K ik 7*24h | BEEITIRESAIA 5 2 IEH

—

ey

(2) HaRECE




@
/Q o PeerS@fe, RS RSRRERAT

1% RiEEE A&

445 Z4%:: Ubuntu 14 &% chainsql &

)

WERCE: 8clbg FEZSAL 200G

(3) WALER

88 General / Apache JMeter Dashboard using Core InfluxdbBackendListenerClient ¢ <«

- Summary

Total Requests Falled Requests Recelved Bytes Sent Bytes Error Rate %

Requests Failed

0%

Total Throughput Total Errors Active Threads

06/02  06/03  06/04  06/05  06/06  06/07  06/08 06/02  06/03  06/04  06/05  06/06  06/07 06/02  06/03  06/04  06/05  06/06  06/07  06/08

= Req/s 4928 5053 50.00 Num of Errors Threads

Transactions Response Times (95th pet)

— all 793ms 658ms

06/020000 06/021200  06/0300:00  06/031200 06/0400:00 06/0412:00  06/0500:00  06/051200  06/0600:00 06/061200 06/0700:00  06/0712:00  06/0800:00  06/08 12:00

79 RiXEEE

peersafe@peersafe:~/chainsql/chainsql$ ./chainsqld tx_count
Loading: "/home/peersafe/chainsql/chainsql/chainsqld.cfg"
2021-Jun-09 01:31:38.509169894 UTC HTTPClient:NFO Connecting to 127.0.0.1:5005

"result" : {
"all" : 30260043,
"chainsqgl" : 30250002,
"status" : "success"

}

}

peersafe@peersafe:~/chainsql/chainsql$ []

80 W LERZH
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peersafe@peersafe:~/chainsql/chainsql$ ./chainsqld peers
Loading: "/home/peersafe/chainsgl/chainsql/chainsqld.cfg"
2021-Jun-09 01:50:01.229832058 UTC HTTPClient:NFO Connecting to 127.0.0.1:5005

EERZ SR BRAE

"result" : {
"cluste!
"peers" :

"address" : "192.168.177.82:48454",
"complete_ledgers" : "1 - 604859",
i 3 true,

0,
“1FB6D5DFFB2637CB613D4CE08F3E5F18A0739725E673236B65CCB38C7E1DBBF1 ",

"metrics" :
“avg_bps_recv"
"avg_bps_sent"
"total bytes_recv
“total_ bytes_sent

: "11261008564",
: "22763852469"
},
"protocol” :
"public_key
"uptime"

4 EXCL/2-1%;

: "n9LwWWYcG15mdH6DKWM28VVz5x2JDE59mTJI2Lrxjd3RPnvMgd9BE£9 ",
494350,

: "chainsgld-3.0.0"

}

"address" : "192.168.177.87:5125",
"complete_ledgers" : "1 - 604859",

o,
“1FB6D5DFFB2637CB613D4CE08F3ES5F18A0739725E673236B65CCB38C7EIDBBF1 ",
63,
"metrics" : {

"avg_bps_re
"avg_bps_sent
“total_ bytes_recv
“total_ bytes_sent

.
6302985158",

33070275293"
},
"protocol” : "ZXCL/2.1",

"public_key" : "n9LZbHzfMmz2A7Equé4ZyL7EDiS3BPAKzHnEewJgvXxkNwigCwlL5",

"uptime" 671905,

: "chainsqgld-3.0.0"

}e

"address" : "192.168.177.84:46876",
"complete_ledgers" : "1 - 604859",
"inbound" true,

"latency" : 2,

81 FEXIREL

ME 79, 80, 81 &£RHOFE, S EIE 50 EXFIE(T 7°24h SHETIEE, RS

30260043 X5, XHR#H 604859, FREXZSEIMIN LS, $ETIEE,

\
7. WA 5 B5E
X ERMA AR SR, XN ERHITRITFEES:

7.1 MRERGT

(1) KA Secp256k1 IEEBARA

TRNE RPEE HIREE iR TPS EITERATE | BRIDE
POP 6289.56/s 2s 100%
44 Payment
HOTSTUFF | 5917.15/s 3s 100%




e, PeerSafe.

EERZ SR BRAE

POP 7092.19/s 3s 100%
InsertMent
HOTSTUFF | 6993.00/s 3s 100%
POP 5524.86/s 3s 100%
Payment
104 HOTSTUFF | 5546.41/s 3s 100%
POP 5649.71/s 3s 100%
InsertMent
HOTSTUFF | 5405.40/s 3s 100%
POP 3521.27/s 3s 100%
Payment
HOTSTUFF | 3484.32/s 3s 100%
20
POP 3937.00/s 3s 100%
InsertMent
HOTSTUFF | 3521.12/s 3s 100%
POP 2000.08/s 3s 100%
Payment
HOTSTUFF | 1510.57/s 3s 100%
50
POP 1988.07/s 3s 100%
InsertMent
HOTSTUFF | 1494.76/s 3s 100%
(2) WE=
HS R E SR AN ARSI, TEXS gmalg BTl , MiAERMT:
TR RBHEE HIQEE HiQATPS | FISEERASE | BINER
POP 5813.95/s | 3s 100%
Payment
HOTSTUFF | 6211.18/s | 3s 100%
4
POP 6493.50/s | 2s 100%
Insertment
HOTSTUFF | 6711.40/s | 3s 100%
(3) AEX1
LTRSS ER— M KIFENEAN, REENXREXE 4 MR, UIKERNT:
TR RBHER HINEE HiRTPS | FHMmAzEYE | pRINER
4 Payment POP 5263.15/s | 3s 100%




e, PeerSafe.

EERZ SR BRAE

Insertment 6024.09/s | 3s 100%
(4) 2HE
=IgE RHEH | HRAEE | IR TPS FIOERE | BRIhER
]
Payment 6097.56/s 3s 100%
NEHETFHELARS POP
Insertment 6060.60/s 2s 100%
=IgE RHEE HiQEE | R TPS EEHER | RINER
BYiE
F4k A: 4016.06/s | S 100%
Payment
EIRS 2 RF4E FHE B: 4081.63/s
POP
KR F4E A: 4329.00/s | S 100%
Insertment
F4E B: 4291.84/s
(5) =ECHLES
TR RBHER HIQE* HIRTPS | FEHREYE | BRINER
9803.92/s | 3s 100%
4 Insertment POP
9345.79/s | 2s 100%
(6) BT
HiHR EHHIERE | & TPS HiF A ESE | RIhER
admin 53t 1% 17060/s 5.42ms 100%




A2®e PeerSafe.
7.2 Wikis

EERZ SR BRAE

(1) EEZMEZRA 4 N5 Payment ZZHIRTE 6298/s Z£4A, Inserment X5 iR
TPS 1A% 7092/s L

2) 10 M R IEEZ RS Payment F InsertMent 53R TPS 7£ 5500/s;

(3) 20 M RIEE B MRATE 5500/s LA L;

(4) 50 N RIEEZ FRATE 1500-2000/s;

(5) Z9%(3 &5%), BRFIEG NP R)BIHIR TPS mlIXE| 6000/s LA L, 2 FFiEREK

REEEFHEHIR TPS 5k F 4000/s;

(6) SEHIE(16c320)HLER I3 5 iR TPS AT E) 9800/s &4

(7) EEEIEFER admin FXEIE TPS K 17060/s ,get FREIEAIIAZI 13710/s;

(8) TRSLHF 7°24h FELETHEDLE 200 RRZIERIETT, HNRERTE;

O) TRZFRBRRIEN N, EAIUESLERZHIEFEZHER, HEERE; D

ATRES, HttPTRAUERLERS, #ERERETIRT;

(10) AMABESZHF 2000 N A [RRT &% 100kb ##E, 100 Nk 400kb 335 ; 4N 23 100

N & 100kb #UEIEA, 50 D 400kb RFZIEA, HELERZIEE,



A2®e PeerSafe.
7.3 WEY

EERZ SR BRAE

(1) NSBVMEBEHIEEE R TS chainsgl #E1t8E, BINERBESENBTIETR;

(2) HAElEE use_tx_tables=0, save_tx_binary=0 {£FH mRXZ 4 IBEE

(3) PTREEEXHHH work HSRINT RILREE , — R AT LURE T R NS850 2

kv
Ao
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